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woluwwnwupp Ywnwpbine niwypnud huwpuwynp sh
lhunwd hbnwquynud hpwlwuwgubp hnipwpdwuubph
qnyph Uywndwdp hpwynitupubiph whnwluwu
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woluwwnwuputiph hpwlwuwgnid
(ghnwlwu wotuwwnwupubiph,

hnnywdubiph pwuwlyp)

Uowlnipwpwuntejui b
104011 wnyutnupuilingejul plwiguiuinh pwitwlwywl 30 30 30 -
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<puwnwpwlynn waquyh
dwwnbuwghwnigjw pupwghy n
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104011 Eiywpnuwihu pwwndwdhgngubip (wdnih [pwbiwlwlywu 2 2 2 -
rhdp)
104011 Uauilinyoushtt luilip intuwpwiting puitiwljuwlwl 23 23 23 -

dwpqujht dwdny (dwdnih ehyp)

Cwjwunwuh Lwupwwbnniejuu $huwuuubph bwfuwpwpnieniu

18. Mshakuyt 3018 Ly




Opwgpwhu Ns $huwtuwlwu gniguwuhsubp
S1 U [
2 ] = 8niguiuhgh niguithoh Goundwd wunuigh
ol 22 g thntpnfunegnt gniguitihgp .
£ €3 s Opwgph Yud hwuwnwndud —— gniguihop W Y Cwunwnywsd b Swppbipnipjwu Wwwnwnp
z uwn wuwnyw
g_ ,g :‘ o | £ Pwnwpwlwuntpjwu Quihnpnghsp (Wywpwgpnieniup) Quithnpnphsh | Yuufuwwnbunwdp h dp v hwpybinnt L 1[:4 5 thwuwnwgh (u). 2-nud Upwd hpwywlwu wlnbph
wiwwwnw niujw
= = £ E g s dhonguindwt wudwunidp wnbuwyp hwgytinnt ruw u dwdwuwlw E nL[_h gniguiuhpubtiph | hnnudubipp L up. 5-nud updwd mwppbipniejwu
c ufuw woybkwnnt
= g’ %S < = dwdwuwlwhuwwn u hwwnywdh 4 dzh h wnwppbpnie)niup wwpqupwunwiubipp)"
5 22 £ | E &h hwd hnwdwluie | wiubul 4u3
o |E| 5|58 | 5|2 {wdh huadup | g | wtw3)
s s 3 £ = 2 wlwnh (+/-) (u 1+ 2) wwnywdnt
Z | s £ 2 y 1y
) 3 3 3
€ T o €
u P S t 5 2 £ C [ d 1 2 3 4 5 6
Uswlnipwiht ninnyudnipiniu niukignn
104011 FlGYunpnuwghu unpwuwnmbing |pwndwdhong |pwuwlwlwu 1 1 1 -
(Uwdnuh ehyn)
StnGywwnynipywl dEnppbipdwu, |SEnGhwwnynipjwu dhnpptindwu,
104011 1124 [ Uo | 05 wwhwywudwt b wpuhjwgdwt  |wwhwywudwy U wpfuhjugdwu
Swnwjnipyntuttin Swnwniiniuubip
QAtinpplipdwd ntinkl u &
104011 (dh"‘?p '"{'“) wbnfundnuel Swdwin 5125 5125 5125 -
quipwjn
104011 ﬁﬂﬁﬂ;ﬁﬁ ll:hnl{hrlzh Ywgquws pwtwlwlwl 14000 14000 14000 -
UM pypubipnud
< bnptiapne UME tiplpubipnud
104011 1124 [ Uo | 06 htinnwnwnwnhndpwgptiph hh hnd biph hbnwpdwlnul
nniutnwnwinhndpuw nwpawlnt
hbnwpéwynid fHnenantn n
104011 Zhnnwwnwinbuwhtu hwnnpnnwdutiph ehyp [pwiwlwywu 500 500 500 -
104011 Mwnhn hwnnpnnwiutiph ghyp pwluwlwlywu 290 290 290 -
. s | us | o7 Spwljwt dwnwlgnipwl Spwlwu dwnwugnipjwt ywhwywudwu b
wwhwwund U mwpwdnid nwpwdiwt Swnwjnipintiubiph dwwnnignud
Snph, nuughp wpnwnpuuph b wg
hpwwnwpwynipjniuubph 2unphwunbuubph,
104011 gnigwhwuntuubph, wnuwywédwnubiph pwlwlwlwu 9 9 9 -
(ubipwnyw) dhgwiqquipts) Yuquwltpunuad
(dhgngunnudubiph ehyp)
Shunwlywu hwdwdnnnyubph, gpuljwu
thwnwwnuubiph, dngnypubph,
104011 ghunwdwynipwiht funphpnudnnnyubiph, |pwuwlwlwu 1 1 1 -
hwunhwnwiubph, gpulwu GpEYnubiph
wugyuwgnud (dhongwnnudutiph phyp)

Cwjwunwuh Lwupwwbnniejuu $huwuuubph bwfuwpwpnieniu

18. Mshakuyt 3019 kg




Opwgpwhu Ns $huwtuwlwu gniguwuhsubp
8 u [
= - 8niguiuhgh niguitihzh Gondwd wutnugh
ol 22 g pndpnfunieynt gniguitihop .
Z| €3 s Opwgph Yud hwuwnwndud —— gniguihop W Y Cwunwnywsd b Swppbipnipjwu Wwwnwnp
g uwn wwnwpyw
g_ ,g :‘ o | £ Pwnwpwlwuntpjwu Quihnpnghsp (Wywpwgpnieniup) Quithnpnphsh | Yuufuwwnbunwdp hwd i o hwpybinnt L 1[:4 5 thwuwnwgh (u). 2-nud Upwd hpwywlwu wlnbph
wiwwwnw niujw
= = £ E g s dhonguindwt wudwunidp wnbuwyp hwgytinnt ruw u dwdwuwlw E nL[_h gniguiuhpubtiph | hnnudubipp L up. 5-nud updwd mwppbipniejwu
c ufuw wpytitnne
= g o S = | 2 dwdwuwlwhuwwn hwwnywdh 2 wnwppbpnie)niup wwpqupwunwiubipp)"
= 3| 23 =z | = hpwywlwi dwdwuwlwh
o £ 5| § & S| 5 Jush hwdwp hwdwp (uy 4-uy 3)
= = = = 2 wlwh (+/-) wunwdnid
c 3 o = IS 3 (u 1+uy 2)
S | <13
g | ? S| €
u P S t 5 2 £ & [ d 1 2 3 4 5 6
Snph, nwwahp wpnwnpuiph b wy
hpwunwpwynie)niutbiph dhowaqgquyhu
104011 gnigwhwunbutbipht, nuwywdwnubphu bl 17 17 17 )
U wy dhgnguinnidubiphu <<
dwutiwygniejw wywhnynid
(dwutiwyhgutiph phyp)
Swppwywu dwuliwghnwgywsd
104011 1146 | Uo | 88 hwupwyppnipniu (dwlnyeh Enuidzntljul fupngUEpnud nunigdurt
YJugdwytipynwd
ninpw)
104011 Uowytipwutiph phdp pwlwywlwu 248 248 248 -
du u dwiul 5
Shituluil duitughuwguw Gpwdonwlywu nupngubipnud nwunigdwu
104011 1146 | Uo | 92 hwupwyppnipiniu (Gwlnyeh
Ywquiwytpunid
ninpun)
104011 Upwlbkpwnubiph phup pwuwlwlwu 247 247 247 -
104011 Unghuiuuu whwwjwhn pinwbhpUbeh | oo 13 13 18 5
Gpbluwubph pYwpwuwly
Uhguwlwpg dwutwghnwgywd
104011 1146 | UD | 96 hwupwypenipniu (dpwlnyeh Enudznuwuit nupngipnud ntunigdul -
Yugdwltipynwd
ninpw)
104011 Upwlbpuwutiph phyp pwluwlwlywu 105 105 105 -
104011 Unghuiuiuu wtwjwhnd pinwbhplbeh | o0, 1 1 1 -
tpbluwubph pYwpwuwly
Cwpdwunwd ipbifuwub
Upwnwnuwpngwlwu lhuz uul{hr].w lip Lu:] nh -
wpybunwlw nipjw
104011 1148 | Uo | 09 nwuwhwpwynpinia (Uowlynyph cn nene) -
) gbinwghnwlwl nwuwnhwpwlniejwu
ninpun
i Ywquwltipunid

Cwjwunwuh Lwupwwbnniejuu $huwuuubph bwfuwpwpnieniu

18. Mshakuyt 3020 Ly




Opwgpwhu Ns $huwtuwlwu gniguwuhsubp
8 u P
= - 8niguiuhgh niguitihzh Gondwd wutnugh
o 22 g pndpnfunynt gniguitihop .
£ €3 s Opwgph Yud hwuwnwndud —— gniguihop W Y Cwunwnywsd b Swppbipnipjwu Wwwnwnp
g uwn wwnwpyw
g_ ,g :‘ o | £ Pwnwpwlwuntpjwu Quihnpnghsp (Wywpwgpnieniup) Quithnpnphsh | Yuufuwwnbunwdp hwd i o hwpybinnt L t[:q 5 thwuwnwgh (u). 2-nud Upwd hpwywlwu wlnbph
wiwwwnw niujw
= = £ E g s dhonguindwt wudwunidp wnbuwyp hwgytinnt ruw u dwdwuwlw E nL[h gniguiuhpubtiph | hnnudubipp L up. 5-nud updwd mwppbipniejwu
c ufuw wpytitnne
= g’ a 5 = | 2 dwdwuwlwhuwwn hwwnywdh 2 wnwppbpnie)niup wwpqupwunwiubipp)"
= 2l 223 =z | = hpwywlwi dwdwuwlwh
o £ 5| § & S| 5 Jush hwdwp hwdwp (uy 4-uy 3)
= c a< = 2 wlwh (+/-) wunwdnid
£ |5 E |5 (w141 2)
S |5 Il
g | ? S| €
u P S t 5 2 £ C [ d 1 2 3 4 5 6
104011 Enbfuwlitinh huaniy untndugnnduluts | 614 614 614 -
YGuwnpnunwd unynpnn GpGluwutiph phyn
Gpwdanmwlwu b wpybuwnh L bpwdpnwlwu b wpybuwnh
104011 s | uo | 2 nwpngubkpnud nwnngubpnud dkpnnwywu )
nuntiuwdtipnnulwu woluwwnwupubiph yugqdwybpwynul W
woluwwnwupubip hpwywuwgnud
Gpwdonwlwu, wpytunh, ginwpybiunp b
wwpwpybuwnh nwpngubpnud
104011 nwunitwdbipnqulwt woluwnwupubph  |pwuwlwlywu 6580 6580 9295 2715
YJuguiwytpynud wpwybpinutiph
nunighsubiph hwdwp
Sbnwpybunwlw Ypenipintu
uwgunn htuwyk u ub
Gpwdonwlyw, wpybumnhp b EPLUHU;J wa '"’thml{ ml:;”;qn?png nh
wlg pwqu w un w
gbnwpytuwnh nwpngubiph NG praasuh un k
hwdwp nwundbwywu un ttpnnujuits YL pnbutph
104011 1148 | Uo | 22 r n gnpdniutinuejw wwwhnynud,
dpwqnbiph, nuuwgnptinh, Wit uitindut ghnwgpulnhl
dbennuwlul Skntwplltph ; W ghtnuttn
dowynud b hpwwnwpwynud tpennUbinh ubpnpnud U Unp
2 n n nunutwdbenpulywu dEnuwnpyutph W
ninbannabinh wwwhndnig
104011 Aunuftwuit Sentwplutinh pwitiwluwlwl 15 15 15 ;
hpwwnwpwynid (dEntwpYubiph phdp)
Bpwdrnwlwu b wpybuwnh
104011 148 | us| 38 nupngubtinh wawkpunubipht Uqquyht, thanwjht U jwpwjht .
Gpwdownwlw gnpdhpubinny qgnpdhpubiph dtinppkpnud
wwwhnyntd

Cwjwunwuh Lwupwwbnniejuu $huwuuubph bwfuwpwpnieniu

18. Mshakuyt 3021 ko




Opwgpwhu Ns $huwtuwlwu gniguwuhsubp
S1 U [
= - 8niguiuhgh niguitihzh Gondwd wutnugh
ol 3 & = thnihnfuniynt gniguihop "
Z| €3 E Opwgph Yud hwunwnyusd wbnt nuwn gnigwhgp (Yunwnqus Cwunwnywsd b Swppbipnipjwu Wwwnwnp
g_ ,g :‘ o | £ Pwnwpwlwuntpjwu Quihnpnghsp (Wywpwgpnieniup) Quithnpnphsh | Yuufuwwnbunwdp h dp v hwpybinnt L nLt[:L[uJB) thwuwnwgh (u). 2-nud Upwd hpwywlwu wlnbph
wiwwwnw
= =| 3 E g s dhgngwndwt wujwunudp wnbuwlyp hwoybtnnt ruw u dwdwuwlw E nL[h gniguiuhpubtiph | hnnudubipp L up. 5-nud updwd mwppbipniejwu
= ufuw woybkwnnt
i g’ %5 = | 2 dwdwuwlwhuwwn bl hwwnywdh 4 dzh Yuh wnwppbpnie)niup wwpqupwunwiubipp)"
3 22 | 5|5 8h hud PUSHASE ] hwg RsAt 443
- |E| 5|52 |5|E uidh husduip N hwdup (w4 3)
s < g = é z wlwh (+/-) (144 2) wunwdnid
S | g -
€ T o €
u P S t 5 2 £ C [ d 1 2 3 4 5 6
Opwgph 2powtwlutipnud Yuqdwlybipyywd «LUL-
GCUMAP-18/39» dwdlwgpny qudwu
pupwgwlwpgh wpryniipnid Yupywsd
wuwjdwuwgnpbpny whwp k dknp ptipdtp 97
bpwdounuwlwu gnpdhp, uwluwyu «UUMEL» UNC
104011 Snpdhpubiph phup (24 wunib) pwuwlywlwu 97 97 93 - 4.00 |Yynnihg N «LLUL-GLUMAR-18/39-5» Swdlywgpny
wuwydwuwgpny vwfuwwnbudws pyny 4 uwupnipp sh
dwunwlwpwpyby, nph ywnéwnny 2018 pywlwup
ntwtidpbph 24-hu wwjdwuwghpp dhwynndwuh
NSyt b Wuwhuny dpwgph 2pgwiuwlutipnud dbnp L
phipdtp 93 Gpwdpnwlwu gnpdhp:
Lwjwunwuh
Lwu b unud b
wpuLfamnLeiniint Cwjwunwuh Cwupwwbunigniuntd b
LEnuwjhtu Twpwpwnh Ltntiught \wpwpunh
Lwupwwybinnieniuntd
<wu b unid u
104011 1148 | Uo | 39 nwnwunwynp ywwnwuh sl nieinitinud nuwnuin -
wwwnwuh Gpwdhan-Ywwmwpnnutiph
Gpwdhan-Yuwwnwpnnubiph gl b St
qupquigll quipqugnd U uwwnwpbjwgnnpddw
u U g
Juwwpbijwagnpddwu wuinuwuyhl Spuighn
Uwwwnwlwyht dpwghp
Gunph uh tpwd
104011 nnhuilh wuinwlh Bpudhzn pwitiwluwlwl 15 15 15 ;
Yuinwpnntitiph ehyp
Owbpwjht b pwibnwiht wpybuwnh
ub dubiph phad u,
104011 ues | uo | o1 Ouilipuilpti L pualtanh wpuinh u?imifgmn B:EJEm s saagadr -
ubpluuignidutn pwiwpnuh gnp P wwhnynd,
wagwhu owbpwiht b pwibnwhu
wpybuwnh fupwuntd
104011 Lwunhuwinbup pYwpwuwyp pwuwlwlwu 58410 58410 42999 -15411

Cwjwunwuh Lwupwwbnniejuu $huwuuubph bwfuwpwpnieniu

18. Mshakuyt 3022 Lo




Opwgpwhu Ns $huwtuwlwu gniguwuhsubp
s o . Sniguithoh 8niguiuhgh Gonuid Pwunwgh
o 22 g hnunfuniegnt gniguitihop .
Z| €3 E Opwgph Yud hwunwnyusd wbnt nuwn gnigwhgp (Yunwnqus Cwunwnywsd b Swppbipnipjwu Wwwnwnp
3| 5 :- o | £ Lwnwpwlwunipjwu Quithnpnahsp (uywpwgpnieniup) Quithnpnghsh | Jwufuwnbunuip huwd ne hwyytinnt L t[: 5 thwuwnwgh (u). 2-nud Upwd hpwywlwu wlnbph
g‘ ; % E g s dhonguindwt wudwunidp wnbuwyp hwgytinnt uu uurjulﬂ::mw dwdwuwlw ElumL][th;lnwl ) gniguiuhpubtiph | hnnudubipp L up. 5-nud updwd mwppbipniejwu
= g’ SJ- g < % dwdwuwlwhuwwn bl hwwnywdh dludlihuul{uuh wnwppbpnie)niup wwpqupwunwiubipp)"
5 S| 5 < = | 5 uy 4-uy 3
§~‘ ;; b QBJ_ GE i; '§ Housh huaduin wlwh (+/-) (:Tf:g) wwnydwdnid (4w 3)
S |5 Il
g | ? S| €
u P S T 5 2 [N C [ d 1 2 3 4 5 6
Snigwuhph tnwppbipnigniup juufuwnbujwsh
uywndwdp yuwydwuwynpyws £ unbindwgnpdwlu
wuduwlywqdh fuhun gpunyudnipjudp’
Ywufuwwnbugws 3 unp pidwnpnupyniuutiph
thnfuwpbt pwnpnunwd pedwnpybi £ 4 unp
ubipyuwywgnud® d.Uwuubh «Uwunu» /$ppwtubpby/
owtipw, U. 2nifuwgjuuh «4wphubi» owliptin, 4.
uwgwuinpyuuh «2pwnihun» dwl. pwibn, d. Phgbih
«Ywpdbuy owbpw U 2 YEpwhwuqudws . dbpnhh
«Spwyhwwnw» owbipw, L. Uhulnwh «tnu Ypfunun
104011 Lbiplywjwgnidubiph pwuwyp pwuwlwlwu 100 100 85 -15 puwitin: Uhwdwdwuwl unbndwgnpdwluwu fudpkipp
fupuwn Swupwpbinuywsd bu tint) 2019 p. hwusudwd
4. Ungupunh «“Ywfuwpnuwlwy uphug» owbipwih unp
phdwnpnie)wl Uwuwwwnpwunwlwu
woluwwnwupubipny:
2018 p. pwwnpnup hjnipwfuwntipny hwunbu & Gyt
Unulwynud, Fnipuynud b Lnuybjenud/hjnipwfunntipp
k) bu 33 op: (Fwwnpnuh nwhhép 41 op
unpwdwnnyb) b yhnwlwu upwuwlniejwu
dhgngunnuwiutiphu:
104011 Unp ptdwnpnipniuubph pwuwyp pwluwlwlywu 3 3 6 3
104011 Utnwghntiwip UGl Ubipluywgdwts hudwn 55 55 55 0.4
nwhhéh dhoht pinuqwdnipyniup (%)
Ugqujht wlhwnbdhwlwu Uqquupli punbpuindtunh
ubpluwjwgnuiubiph pkdwnpniejw,
104011 1168 | Uo | 02 pwwnbpwpybunh -
ubpluuignidubn pwwnpnuh gnpdntubinipwt wwwhnynid,
n waquwiht pwwnbpwpybunh fupwunud
104011 Lwunhuwwbup pwpwuwlp pwuwlwlwu 36240 36240 46209 9969
104011 Lbipywjwgndubiph pwuwyp pwuwlywlwu 90 90 108 18

Cwjwunwuh Lwupwwbnniejuu $huwuuubph bwfuwpwpnieniu

18. Mshakuyt 3023 ko



Opwgpwhu Ns $huwtuwlwu gniguwuhsubp
S1 U [
2 E = 8niguiuhgh niguithoh Goundwd luumuwgh
Sl =% £ o d h 5 [Hhnhnfunteint u gniguithzn - tn "Swpply U wwub
£z & 3 E pwgnh Yuw wutnwwnyu bt putn gnigwhgp (Yunwnqus wunwnyu wppbipnupjw Wwwnwnp
3 ,g :‘ o | £ Pwnwpwlwuntpjwu Quihnpnghsp (Wywpwgpnieniup) Quithnpnphsh | Yuufuwwnbunwdp hwd hwpybinnt W punncudwd) thwuwnwgh (u). 2-nud Upwd hpwywlwu wlnbph
wiwwwnw
= = £ E g s dhonguindwt wudwunidp wnbuwyp hwgytinnt ruw u dwdwuwlw Elunqhmm gniguiuhpubtiph | hnnudubipp L up. 5-nud updwd mwppbipniejwu
< ufuw "
= g’ SJ- g < % dwdwuwlwhuwwn bl hwwnywdh dludlihuul{uuh wnwppbpnie)niup wwnpqupwunwjubipp)
< S| 5 s S| 5 Sh hwdw hwdw (uy 4-uy 3)
o g 5| § & S| 5 Yu n 3 n S j 4-uy
g < g = £ z wlwh (+/-) (144 2) wunywdnil
S e R
€ e o €
u P S t 5 2 £ & [ d 1 2 3 4 5 6
Snigwuhph tnwppbipnigniup juufuwnbujwsh
uywundwdp wuwydwuwynpdws £ 2 unp
104011 Unp pdwnpnipniuubph pwuwyp pwuwlwlywu 3 3 2 -1 Ubpluwguls phdunpnupjwip b 1 apulutiyus
ubplwjwgdwdp
Uwnwghnuwp dkl ubiphujwgdwu hwdwp
104011 hhiuwlwu nwhhéh dhohu npwlwywu 55 55 55 0
phinujwdnipyniup (%)
uub dub
104011 168 | uo | o3 (Fwwinbpwpwlwu fFwwnbpwpwluw nYywjwgnuiutiph )
ubipyuwywgnidubp phdwnpnipniuubp
104011 Lwunhuwwnbup pwpwuwyp pwluwlwlywu 359312 359312 399036 39724
104011 Lbiplwjwgndubph pwuwyp pwuwlwlwu 1998 1998 2370 372
104011 Unp pbdwnpnipiniuubiph pwiwlp pwuwlwlwu 43 43 48 5
u uwpn dkl ub dwu hwd
104011 wnuwghntwip Ul Ubpugwgdwts hudwp 64 64 64 -
nwhihéh dhoht pinudwdnieyniup (%)
bnwd b L Gpwdonwywu hwdnypubiph, hwdkpgujhu
104011 168 | uo | 04 nw zm”[:’"{ ”h‘"hdh o Ywquwlbpunieynittbph Ynndhg -
wuipupdiunh hudGngltn hwdbpgwyhtu dpwanpbph hpwlwuwgnud
104011 Lwunhuwwnbuh pYwpwuwyp pwluwlwlywu 148630 148630 202409 53779
104011 Lwdbtipgubiph pwuwyp pwlwlwlywu 469 469 562 93
104011 Unp hwdbipgquwjht hwdwpubph pwuwlyp  [pwuwlwlywu 20 20 62 42

Cwjwunwuh Lwupwwbnniejuu $huwuuubph bwfuwpwpnieniu

18. Mshakuyt 3024 to




Opwgpuwyh

Opwgph nwuhsp

Lwnwpwlwuntpjwu
dhongundwu nwuhsp

Opwgph Yud
Pwnwpwlwuntpjwu
dhonguindwt wudwunidp

Quithnpnhsp (Wywpwgpnuenip)

Quihnpnzhsh
wnbuwyp

Ns $huwtuwlwu gniguwuhsubp

8niguiuhgh
hwunwnyusd

YJwufuwwntunuip
hwgytinnt
dwdwuwlwhuwwn
Jush hwdwp

8niguiuhgh

thnihnfuniynt

uubipu puwn
hwdwywunw
ufuw
hpwjwlyw
uilpnh (+/-)

Goundwd
gmiguiuhpp
hwpybinnt

dwdwuwlw
hwwnywdh
hwdwp

(uy T+uy 2)

Pwunwgh
gmiguiuhpp
(uwnwpqud
U punniudwd)
hwpybinnt
dwdwuwlwh
wwnywdnd

Cwunwnywsd b
thwuwnwgh
gnigwuhputiph
wnwppbpnie)niup
(uy 4-uy 3)

"Swppbpniejwt wwwnbwnp
(u). 2-nud Upwd hpwywlwu wlnbph
hnnudutipp b uj. 5-nud Updwd mwppbipnuejwu
wwpqupwunwiubipp)"

= [MU Ynnp

T |Ywwwpnnh Ynnp

D

% |uthnpnghsh Ynnp

| Mwpwpubiph gwnpdh Ynnp

3

104011

“typngulwt $hihwpdnuhwh
hwdbipqwjht gnpdniutintenit dwpgbipnud
U Eplwunud (hwdkipgubiph pwuwyp)

pwuwlwlywu

25

25

47

22

104011

Uunwghnuwp dkY hwdtipgh hwdwp
nwhihéh dhoht pEnuqudnipyniup (%)

npwlwywu

55

55

55

104011

1168

uo

06

Lwdwjupwihu dowynyph b
wquwn dwdwugh
Juqudwlbpynid

Lwdwjupwihu dawynyeh b wquin
dwdwugh Ywqdwhbpwnid dowlynyph
YGuwmpnunud, nwpwdpwih dowynipwihu
dhongwnnidutiph hpwlwuwgnid

104011

Shyuphuwjht pwnpnuh ubiplwjwgnidubiph
pwlwyp

pwuwlwlwu

13

13

14

104011

Snwwtwlywu hwinyph hwdkpgubtph
pwlwlp

pwuwlwlwu

15

15

19

104011

1168

uoc

o7

Urwlniewiht dhongwnnuiubiph
hpwywuwgnud

dwidwuwlywyhg wpybuwnh
wpnwwgwunnid, mwpwdnud,
dwwnskihnipywt wwwhnynud, <<
dwpgbtipnud dawlynipuwiht Ywuphu
dwutwlyghint, dpwlnyewihtu wpdbputiphu
hwnnpnwygytiint, niuwynieniuubtin nu
htitnwppppniejniuutipp npulinptin,
wqwwnnpnu unbindwgnpdtijnt
hpwyniupubiph wwwhnynid, wugjwnud
unbindwsd, wwhwwuynn, Yhpwnynn b
pwuwynp Gwlwuwwphny thnfuwugynn
wywlunwlwu dawlnipuwiht wpdbpubiph
wdpnnontpjwlt Wwhwwunipjwup ninnywd
Swnwjnipiniuubiph b dpwlynyphu Uyhpywd
hEnnuwmwhwnnpnwowpbiph
hpwywuwgnud

Cwjwunwuh Lwupwwbnniejuu $huwuuubph bwfuwpwpnieniu

18. Mshakuyt 3025 ko




Opwgpwhu Ns $huwtuwlwu gniguwuhsubp
S1 U [
= - 8niguiuhgh niguitihzh Gondwd wutnugh
ol 22 g pndpnfunieynt gniguitihop .
Z| €3 s Opwgph Yud hwuwnwndud —— gniguihop W Y Cwunwnywsd b Swppbipnipjwu Wwwnwnp
z uwn wuwnyw
g_ ,g :‘ o | £ Pwnwpwlwuntpjwu Quihnpnghsp (Wywpwgpnieniup) Quithnpnphsh | Yuufuwwnbunwdp hwd i o hwpybinnt L nLt[:L[uJB) thwuwnwgh (u). 2-nud Upwd hpwywlwu wlnbph
wiwwwnw
g =| 3 E g s dhgngwndwt wujwunudp wnbuwlyp hwoybtnnt ruw u dwdwuwlw E nL[h gniguiuhpubtiph | hnnudubipp L up. 5-nud updwd mwppbipniejwu
= ufuw woybkwnnt
i g’ SJ- 5 = | 2 dwdwuwlwhuwwn bl hwwnywdh 4 dzh Yuh wnwppbpnie)niup wwpqupwunwiubipp)"
3 22 | 5|5 qush hwdwp | MPUSEASE g | TESEEASE G 4y 3)
=] < je) 3 o 5 =] n 2 n Snud Il )
g < g = £ z wlwh (+/-) (144 2) wunywdnil
S e R
€ e o €
u P S t 2 £ & [ d 1 2 3 4 5 6
Mbnwlywu wowygntejudp
104011 hpwlwuwgynn unbndwgnpdwywu -
dpuwgntin, wyn. pynud
104011 pwwnbpwlwu dpwgpbiph phup pwlwlwlwu 10 10 18 8
104011 Gpwdonwlwu dpwanpbiph rhup pwuwlywlywu 15 15 28 13
Uhowqggquyiht Yhunthwnwwnnuubiph,
104011 pwwnbpwlwu, Gpwdanwlwu pwuwlwlwu 14 14 19 5
thwnwinnubiph U dpgnyputiph phup
Cwupwwbinwywl hwnwinnubph,
104011 dpgnyputiph, gnigwhwunbultiph, pwluwlwlywu 6 6 16 10
unnigwinbuubiph phyp
104011 <npbjywuubiph ehdp pwluwlwlywu 34 34 35 1
Cwjyulyw dowynyph b wpybunh
ubipyujwgnud wpnwuwhdwujwu
whwnnieyniuubpnud W wpinbpypubph
1} b ub )
104011 Uguilinuypeh U wpyfuwnh Ubpluiwgn: puwitwlulwb 26 26 40 14
Lwjwunwunud’ ywainnuwlywu
wwwnyhpwlnipniuubtph
thnjuwuwynwiubp, thnfjuwnwpd dawlnyeh
optip (dhgnguinnuiubiph ehyp)
Upybuwnh gnigwhwunbivubip b w)ju
104011 (dowlnipwiht hnfjuwtuwynuiutip pwuwlywlwu 38 38 38 0

wpubipypubiph htin)

Cwjwunwuh Lwupwwbnniejuu $huwuuubph bwfuwpwpnieniu

18. Mshakuyt 3026 ko




Opwgpwhu Ns $huwtuwlwu gniguwuhsubp
8 u [
= - 8niguiuhgh niguitihzh Gondwd wutnugh
ol 22 g o hnunfuniegnt gniguitihop .
Z| €3 E nwgph Yud hwunwnyusd wbnt nuwn gnigwhgp (Yunwnqus Cwunwnywsd b Swppbipnipjwu Wwwnwnp
g_ ,g :‘ o | £ Pwnwpwlwuntpjwu Quihnpnghsp (Wywpwgpnieniup) Quithnpnphsh | Yuufuwwnbunwdp h dp v hwpybinnt L nLt[:L[uJB) thwuwnwgh (u). 2-nud Upwd hpwywlwu wlnbph
wiwwwnw
= = £ E g s dhonguindwt wudwunidp wnbuwyp hwgytinnt ruu"u dwdwuwlw Elunqhmm gniguiuhpubtiph | hnnudubipp L up. 5-nud updwd mwppbipniejwu
c ufuw
= g’ %5 = | 2 dwdwuwlwhuwwn bl hwwnywdh 4 dzh Yuh wnwppbpnie)niup wwpqupwunwiubipp)"
3 22 | 5|5 8h hud PUSHASE ] hwg RsAt 443
- |E| 5|52 |5|E uidh husduip N hwdup (w4 3)
s < g = é z wlwh (+/-) (144 2) wunwdnid
= ER )
€ e o €
u P S t 5 2 £ & [ d 1 2 3 4 5 6
Ugwlgnipyniu uinbindwgnpdwlyw
fudptiph, wuhww Yuwnwnpnnubph,
udhu bi b
104011 wnuitights wpytuinuwgbuttinh puitiwljuwlwl 42 42 70 28
dwubiwlgniejwup dhowqgwihu
upgnypubtipht U hwnwwnubiphu
{dhgngwinnuiutinh phyp)
Uhowqquiht hwdwgnpdwlgnientu
5 h 8NhLEUYO-h, UUY-
104011 Unwfunnhpnh, b ULSh - wuu 36 36 39 3
UM< hwdwwwwnwufuwu wnnygubph
htiwn (dhgngunnidutiph phdp)
Uthjnnpwhuwj wpybunwgbnubtph
ub i< unwd U h
104011 nuyugnud Cujuutnuitinud U huy puitiwljuiljuwt 21 21 21 -
wpybunwgbnubiph ubipluywgnid
uthjninpnud (Ghgngwnnuiutiph phyp)
104011 Uwlluuinuilibhu dywlnuewht pwtwlwlwl 12 12 12 -
dhgngwinnudubiph phyp
u u 4 dub
104011 Uwnquihts daunieushts dhgnguinntdUtnh f o 30 30 50 20
rhup
Ns Wynipwywy dywynipwihu
104011 dwnwugnipjwl wwhwwuniejwut pwluwlwlywu 20 20 22 2
nunywd pwantiph phyp
U u U &
104011 2uilinueht tynyw pwluwlwlywu 3 3 3 -
hEnnwwmwhwnnpnwowpbiph phdp
U u e]] u
104011 168 | uo | 30 aquupt wlunbuhuwlu rutipbinquuhy hwdbingubnh hpwljwtiwgnul -
fudpbpgquyht hwdbkpqubp
104011 Lwunhuwwbiuh pYwpwuwlyp pwuwlywlwu 7310 7310 10990 3680

Cwjwunwuh Lwupwwbnniejuu $huwuuubph bwfuwpwpnieniu

18. Mshakuyt 3027 to




Opwgpwhu Ns $huwtuwlwu gniguwuhsubp
= 8niguiuhgh Smguilihzh Gondwd Punugh
o 22 g hnunfuniegnt gniguitihop .
£ €3 s Opwgph Yud hwuwnwndud —— gniguihop W Y Cwunwnywsd b Swppbipnipjwu Wwwnwnp
z uwn wunwnyw
g_ ,g :‘ o | £ Pwnwpwlwuntpjwu Quihnpnghsp (Wywpwgpnieniup) Quithnpnphsh | Yuufuwwnbunwdp huudupju{Ejuuu hwpybinnt W punncudwd) thwuwnwgh (u). 2-nud Upwd hpwywlwu wlnbph
g‘ = £ ,g g s dhonguindwt wudwunidp wnbuwyp hwgytinnt ufuw dwdwuwlw huigbtnt gniguiuhpubtiph | hnnudubipp L up. 5-nud updwd mwppbipniejwu
ol o~ n
; g g % é JJ_E dl:du;ﬁwhqlt;hwm bl hl:Ln;[luBh dudwbuuwh Lnul(pph;m@;uhg wwnpqupwunwjubipp)
= c ol 3 > S| 3 wop hwdwn 3 wuwp Snud uj 4-uy
g < g = £ z wlwh (+/-) (144 2) wunywdnil
5 3 EREE
€ T o €
u P S t 5 2 £ C [ d 1 2 3 4 5 6
Lwibipqubiph U Ginypubiph (fungnp uwdh
104011 uinbindwgnpdnipiniu, Juuwnwn, pwtwywlwu 10 10 15 5
opwwnphw U wjju) pwuwyp
Mb u hhduwplubiph b
Nbwnwluwt hhduwnlubnh W tnuiluiti hhdtwipyutph
YwaquwybpunipiEnh Ywgdwybpwynieniuutiph wafuwwnnutiph
104011 1015 | vs | 42 N ;wmn "I:*; f:a{ln hw“wuwu hhwnpbipwht Juplh wiuwYwy J6wph, -
lhij b nlrlllunluhn?[mdl nwdwu Yéwnph b hwuguinh wywhnddwu
rehe “ qdny dwfuubiph thnfuhwwnignid
Lwd u wh u
wdwywwnwufuwt whnwlw Suwhuwnnibph
104011 hhduwplubiph b ugdwlybpwniypyniuutiph il 5818 5818 4656 -1162
pwlwyp
wluwwnwlhgubiph pwuwlp
Uhohti dwutwghunwlywu Uhght dwutwghwnwlwu Ypenipejwu gdny
104011 1045 [ ©OS | 21 Ypenipjwl bywuwmutiph nwunnulw tywunutiph mpwdwnpnid -
wnpwdwnpnud (dowlnyeh ninpun) |nwuwunnubiphu
104011 Uhgoht dwutiwghwmwlw Yppenieiniu Cwhwnniutiph 282 282 286 4
unwgnn ntuwunnubiph phdp pwuwlyp

Cwjwunwuh Lwupwwbnniejuu $huwuuubph bwfuwpwpnieniu

18. Mshakuyt 3028 Ly




Opwgpwhu Ns $huwtuwlwu gniguwuhsubp
= 8niguiuhgh Smguilihzh Gondwd Punugh
ol 22 g pndpnfunieynt gniguitihop .
Z| €3 s Opwgph Yud hwuwnwndud —— gniguihop W Y Cwunwnywsd b Swppbipnipjwu Wwwnwnp
S| 2 N pun wuwnyw
3 ,g :‘ o | £ Pwnwpwlwuntpjwu Quihnpnghsp (Wywpwgpnieniup) Quithnpnphsh | Yuufuwwnbunwdp hudwugunw hwpybinnt W punncudwd) thwuwnwgh (u). 2-nud Upwd hpwywlwu wlnbph
g‘ = £ E g s dhonguindwt wudwunidp wnbuwyp hwgytinnt ufuw dwdwuwlw huigbtnt gniguiuhpubtiph | hnnudubipp L up. 5-nud updwd mwppbipniejwu
= g’ SJ- 5 = | 2 dwdwuwlwhuwwn bl hwwnywdh 4 dzh Yuh wnwppbpnie)niup wwpqupwunwiubipp)"
= wywlw wdwuwlw
- < 51§ g S J)g: Juwdh hwdwn n hwdwp (uy 4-uy 3)
= = = 2 wlwh (+/-) wunwdnid
5 5 a4 5 S| 5 (uy 1+uy 2)
S | g £ 3
g | ? S| €
u P S t 5 2 £ C [ d 1 2 3 4 5 6
Uhght dwutwghunwlwu
104011 1085 | os | 22 Ypenipntu unwgnn Uhoht dwutiwghnwlwu Ypentejntu )
nwwunnubiph utnwgnn nwuwunnubiph Yppwenywy
Uppwenzwl{dawlnyph ninpw)
YUppwpenawlp npynud £ hwdwswiu <&
Uhoht dwut u u
104011 hoh l;uu wghuull hnenieju Twhwnniubtiph 112 12 84 28 Ywnwywpnipjwu 2013 p, unjbdptiph 28-h 1330-L
ninpuinud Ynpuipnawy uinwgnn wlw ) npngdwt hwybdwdny hwunwndwsd upgh 15-pn
pwlwp
nwwunnutiph phyp Yhnh
Ugwlygnipjni onwpbipypjw
104011 i | os | o6 whwnnieniuubpnid hwjwbgnt Uwutuwlh wowlgnipinit (&phihuph M. )
pwwnbpwlywu Unwdjwuh wujwu pwwnpnthu
ubpywywgnudubpht
Cwhwnniubph
104011 (Fwwnpnup wwhwwunip)niu 1 1 1 -
pwlwlp
Uwutwghunwgyws
hwUupwypprwlywl nunidtwlwu
hwuwmwwnnie)niuubiph Gpwdonwlw nupngutipnid dhouwlwpg
104011 1146 | ©S | 15 tpbfuwubph Yppwpenowy (inhd) punhwuntp Ypenipeyntu -
dhguwlwpg (iphy) punhwunip  funwgnnubinh Yppwpengwly
Ypenipjwl dwlwpnwynud
(dwynyph ninpun)

Lwywunwuh <wupwwbnnipejwl $hwtuubph bwiuwpwpnie)niu 18. Mshakuyt 3029 ko




Opwgpwhu Ns $huwtuwlwu gniguwuhsubp
S1 U [
= - 8niguiuhgh niguitihzh Gondwd wutnugh
ol 22 g pndpnfunieynt gniguitihop .
Z| €3 s Opwgph Yud hwuwnwndud —— gniguihop W Y Cwunwnywsd b Swppbipnipjwu Wwwnwnp
z uwn wuwnyw
g_ ,g :‘ o | £ Pwnwpwlwuntpjwu Quihnpnghsp (Wywpwgpnieniup) Quithnpnphsh | Yuufuwwnbunwdp hwd i o hwpybinnt L t[:q 5 thwuwnwgh (u). 2-nud Upwd hpwywlwu wlnbph
wiwwwnw niujw
= = £ E g s dhonguindwt wudwunidp wnbuwyp hwgytinnt ruw u dwdwuwlw E nL[h gniguiuhpubtiph | hnnudubipp L up. 5-nud updwd mwppbipniejwu
c ufuw woybkwnnt
= g’ a 5 = | 2 dwdwuwlwhuwwn hwwnywdh 2 wnwppbpnie)niup wwpqupwunwiubipp)"
= 3| 23 = = hpwywywu dwdwuwlwh
o £ 5| § & S| 5 Jush hwdwp hwdwp (uy 4-uy 3)
= = = = 2 wlwh (+/-) wunwdnid
£ |5 €5 |5 (w141 2)
S | <13
g | ? S| €
u P S t 5 2 £ C [ d 1 2 3 4 5 6
104011 Gpwdonwlywu nupngubipnud Yppuwenawl |Swhwnniubiph 138 138 138 )
unwgnn unynpnnubiph phup pwtiwp
Unghwjwwbtu wuwwwhny
puwnwuhpubph tpbjuwutiph Unghwjwuwbtiu wuwuwwhny punwuhpubph
104011 1146 | oS | 20 nwuwgnpliph Jupdwydwpubiph |Gpbluwubiph nwuwgpptiph -
thnfuhwwnnignud (dowynyeh Jupawydwpubtiph thnfuhwnnignid
ninpw)
104011 Uuwwwhny punwuhpubiph tptifuwutiph  |Gwhwnniubph 24 24 29 5
pwlwlyp pwlwlyp
<nipwpdwutiph ghnwuwfuwgdwjhu
thwuwnwpenpbiph Yugunid, hpwnwy
104011 1075 | ua | o1 Lnipwpdwuubph wdpwluwynd,  [nwnwuwuhpnud, Juybpugpdw b )
unpngnud U Ybpwljwuqunid nunuitwuhpdwl wofuwwnwupbp,
hGwnwfunignd b huwghnwywu whnnud,
wdpwlwynud, unpngnud U YEpwljwugqunid
104011 Yhpwlwugudwu wofuwwnwupubp pwluwlwlywu 10 10 12 2
<& Upwipuwinh dwipgh <uwpbipn, hwdwjuph Hhu
huwduypnud bwjuwnbujws wennuubpp Yuwnwnpyby
bu Uwuwinbudwd dwdltinnhg nip (ng unyu dpwgpny)
U £ Yunwydwpnipjwu npngdwdp thwuwnwpnebph
Ywqidwu dwdybnp bplupwsgyb k2019 p.: <&
Swynigh dwipgh Gn2 hwdwjuph Sngwywuph
gpuinw ogunwgnpdnud b tnwipwdph dwutwyh
YEpwlhwuqudwu vwiuwgdwiht thwunwpenelipp
104011 Ghnwtwfuwgswht hwunwpenpbiph pwtiwlwlwl 5 5 1 4 owhnn uqiwytipynipjw Ynndhg sku Yuqdyt), <<

Yugdnud

Lnnnt dwipgh Lnnh pbipn widpngh punupph b <<
Ynunwyph dwpgh Lninunw hwdwjuph 13-pn nuiph
Gltintignt YEpwlwuqunuiubiph bwiuwgdwhu
thwutnwpenptipp 2whnn uqdwlbpyniyeniuubph
Yynndhg Yuquyk) u pkph, npnug hwdwp
Uwhuwdbnuyby Bu puybpnipyniuubpht qudwu
qnpdpupwght dwutwlgtint hpwyniup sniutignn
dwutwlhgubiph gnigwlnud ubipwnbint gnpdpupug
(nuwiplyti £ << $huwuubph vwfuwpwpnipniu):

Cwjwunwuh Lwupwwbnniejuu $huwuuubph bwfuwpwpnieniu

18. Mshakuyt 3030 Lo




Opwgpwhu Ns $huwtuwlwu gniguwuhsubp
8 1] [
= - 8niguiuhgh niguitihzh Gondwd wutnugh
ol 22 g pndpnfunieynt gniguitihop .
Z| €3 s Opwgph Yud hwuwnwndud —— gniguihop W Y Cwunwnywsd b Swppbipnipjwu Wwwnwnp
z un wwnwpyw
g_ ,g :‘ o | £ Pwnwpwlwuntpjwu Quihnpnghsp (Wywpwgpnieniup) Quithnpnphsh | Yuufuwwnbunwdp hwd i o hwpybinnt L t[:q 5 thwuwnwgh (u). 2-nud Upwd hpwywlwu wlnbph
wdwwwnw niujw
= = £ E g s dhonguindwt wudwunidp wnbuwyp hwgytinnt ruw u dwdwuwlw E nL[h gniguiuhpubtiph | hnnudubipp L up. 5-nud updwd mwppbipniejwu
< ufuw woybkwnnt
= g’ a 5 = | 2 dwdwuwlwhuwwn hwwnywdh 2 wnwppbpnie)niup wwpqupwunwiubipp)"
= 3| 23 = = hpwywywu dwdwuwlwh
o £ 5| § & S| 5 Jush hwdwp 3 hwdwp (uy 4-uy 3)
= = = = 2 wlwh (+/-) wunwdnid
£ |5 €5 |5 (w141 2)
S |5 Il
g | ? S| €
u P S t 5 2 £ C [ d 1 2 3 4 5 6
Luwluwwnbudby Bu huwpwynp hpwnwy
wdpwluwydwl wpfuwwnwupubp, npnug hwdwp
hwiwywwnwufuwbwpwn' b nunwuwuhpdw,
ghunwuwfuwgdwht thwunwpenebiph juqudwu W
thnpadwplunipwl wfuwnwuputip: Uwlwju
Cpunnuy nunuduwuhpnud, wipwlwgnd, «BSwpnwpwwbnwlwu gnpdniubiniewl dwuht» <&
104011 b uatinud pwuwlywlwu 15 15 - -15 opbuph punniudwdp Yuubkgyby bu
Ytipwluwiiqliny «Rwnwpwhunipjul puwqudwnnid
pwnwpwhuwlwy thwutwenetph dwynu b
thnpdwplunipyniuy' pun «Puwlth, hwuwpwlywlwu
U wpuwnpulwu» ninpunutiph |hgbughwubipp, hugny
wuwydwuwynpywd huwpwynp sh bink qudwu
qnpdpupwgh Yuqiwybpunup:
Muwndwdpwlnipwiht wupwnd
104011 hnwpdwuubph whnnudubph uunwpnud - |pwtwlwlwu 3 3 3 -
(wtnnudutiph phyp)
Cuuunuith Cwjwuinwuh Cwupwwbinniejuu b
dwjhuyjwt hipnuwdwpunbiph 100-wdwyhu
Cwtipuigtnnieluts W dwhuwli |, s on e uinnudbnh hpuluitiugnid
104011 168 | Uo | 34 hbpnuwdwputph 100-wduypu |20 ong nhhn g
hwdwlwpgnud («Cwjwunwuh Unwehu
uyhpqwd dhgnguinnidutiph .
Cwupwybinnipyniup’ 100 twnpquw
hpwywuwgnui
hGinwhwywg»)
Cwjwuinwuh Cwupwwbinniejuu b
dwjhuyjwt hipnuwdwpunbiph 100-wdwyhu
udhpywd dhongunnuiutiph hpwlwuwgnid,
104011 hudwluwingnud puitiwlwlwl 1 1 1
Cwjwunwuh Cwupwwbinnyejuu b
¢ uh dwjhuywt hipnuwdwpunbiph 100-wdwyhu
wjwunw
! udhpywd dhongunnudutiph hpwlwuwgnid,
Lwupwwbinniejwu b dwihujwu huwly g uh
wdwlwpgnud (Cwjwunw
104011 168 | uo| 35 hbpnuwdwputiph 100-wdjwlpt na !
uhpdws dh futinh Cwupwwbwnnpywu b dwjhujwu
w ngwnn
h pl| g ng n htipnuwdwpwntiph 100-wdjuyh
pulwuwgn
Ywpqufunuh L funphprwtihzh dngnygeh
wuglwgntd U hwutnwnnid)

Cwjwunwuh Lwupwwbnniejuu $huwuuubph bwfuwpwpnieniu

18. Mshakuyt 3031 kg




Opwgpuwyh

Opwgnh nwuhsp
Lwnwpwlwuntpjwu
dhongundwu nwuhsp

Opwgph Yud
Pwnwpwlwuntpjwu
dhonguindwt wudwunidp

Quithnpnhsp (Wywpwgpnuenip)

Quihnpnzhsh
wnbuwyp

Ns $huwtuwlwu gniguwuhsubp

8niguiuhgh
hwunwnyusd

YJwufuwwntunuip
hwgytinnt
dwdwuwlwhuwwn
Jush hwdwp

8niguiuhgh

thnihnfuniynt

uubipu puwn
hwdwywunw
ufuw
hpwjwlyw
uilpnh (+/-)

Goundwd
gmiguiuhpp
hwpybinnt

dwdwuwlw
hwwnywdh
hwdwp

(uy T+uy 2)

Pwunwgh
gmiguiuhpp
(uwnwpqud
U punniudwd)
hwpybinnt
dwdwuwlwh
wwnywdnd

Cwunwnywsd b
thwuwnwgh
gnigwuhputiph
wnwppbpnie)niup
(uy 4-uy 3)

"Swppbpniejwt wwwnbwnp
(u). 2-nud Upwd hpwywlwu wlnbph
hnnudutipp b uj. 5-nud Updwd mwppbipnuejwu
wwpqupwunwiubipp)"

= [MU Ynnp

T |Ywwwpnnh Ynnp

P
)

% |uthnpnghsh Ynnp

| Mwpwpubiph gwnpdh Ynnp

3

104011

<wjwuinwuh Lwupwwbnnipjwi b
dwihuywt hipnuwdwpunbiph 100-wdjwlhu
ughpyws dhongunnudutiph hpwlwuwgnid,
hwdwlwpgnud

pwuwlywlwu

104011

1168 | Uo

36

Lwjwunwuh
Lwupwwbinniejwu W dwihujwu
htpnuwdwpwntiph 100-wdjwyhu
uyhpqwd dhgnguinnidutiph
hpwywuwgnui

Cwjwunwuh Cwupwwbinnuygjuu W
dwjhujwt hipnuwdwpunbiph 100-wdwyhu
uyhpyws dhongunnudutiph hpwlwuwgnid,
hwdwlwpgnud (< dwpgbpnud
Cwjwunwuh Cwupwwbinnuygjuu W
dwjhujwt hipnuwdwpwnbiph 100-wdwyhu
uyppywé nnuwywu hwdbpgubiphu
hwupwwbwniejwu Swuwsjwd tipghs-
tpggnthhubiph dwutwygnieniu)

104011

Lwjwuinwuh Lwupwubinnipui b
dwihuywt htpnuwdwpuntiph 100-wdjwlhu
uyhpywsd dhongunnudutiph hpwlwuwgnid,
hwdwlwpgnud

pwuwlwlwu

104011

1168 | Uo

07

Uawlnipwiht dhgngunnuiubiph
hpwywuwgnud

«%nphup’ 2018 pYwlwuh UML
dawlnipwht dwjpwpwnwp»
thowbnwlywu dpwgph Yugdwybpynud b
wuglwgnud

«9nphup’ 2018 pywlywuh UNL
dawlnipught dwjpwpwnwup»
dhowbivnwlyw dpwgnph dhongunnudutip

pwuwlywlwu

10

10

30 20

L& Ywnwywpnipjwu 2018 p. wwphih 12-h N 417-L
npngnud:

Cwjwunwuh Lwupwwbnniejuu $huwuuubph bwfuwpwpnieniu

18. Mshakuyt 3032 ko




Opwgpwhu Ns $huwtuwlwu gniguwuhsubp
8 u P
= - 8niguiuhgh niguitihzh Gondwd wutnugh
o 22 g o . ) 5 |Bnhnhunien: o | amouuhan | - R
£z & 3 E pwgnh Yuw wutnwwnyu bt putn gnigwhgp (Yunwnqus wunwnyu wppbipnupjw Wwwnwnp
3 ,g :‘ o | £ Pwnwpwlwuntpjwu Quihnpnghsp (Wywpwgpnieniup) Quithnpnphsh | Yuufuwwnbunwdp hwd hwpybinnt W punncudwd) thwuwnwgh (u). 2-nud Upwd hpwywlwu wlnbph
wiwwwnw niujw
g =3 3 g s dhgngwndwt wujwunudp wnbuwlyp hwoybtnnt ruw u dwdwuwlw E nL[h gniguiuhpubtiph | hnnudubipp L up. 5-nud updwd mwppbipniejwu
c ufuw wpytitnne
= g’ a 5 = | 2 dwdwuwlwhuwwn hwwnywdh 2 wnwppbpnie)niup wwpqupwunwiubipp)"
= 2l 223 =z | = hpwywlwi dwdwuwlwh
o £ 5| § & S| 5 Jush hwdwp hwdwp (uy 4-uy 3)
= c a< = 2 wlwh (+/-) wunwdnid
£ |5 E |5 (w141 2)
S |5 Il
g | ? S| €
u P S t 5 2 £ C [ d 1 2 3 4 5 6
G dod u
w;mﬁ? um:‘[:t‘;]zjw h Snphup 4. dwnwpwuh wudwu
ujde:]thuJUum winpnh whnwlwu npuwdwwhywywi pwwnpnup
104011 1168 | L4 | O1 HE P——— nlfuw r;wau h Ybpwunpnguiwl, ntuwpdwlwihu
hw“uwuw“njrh . ,;hluh MOWHLINY L dwYwngh W pbdh hwunbpawuph
b unud
hwnbpéwtph qopughung | Lanunt
Snphup 4. dwnupgwuh wuduu
whnwlwu npwdwnhlwlwu pwwnpnuh
Ybpwunpnqudwl, [nuwpdwlwihu pwlwlwlwu 1 1 1 - :(nq:i;wqumrajwh 2018 - wunhip 12 N 4171
hwdwlwngh U plidh hwbnbpawlph o
ybpwghunud
«Lwjwunwuh wagwiht ywwytpwpwhy»
Fwugwpwuwihu whnwlwt ng wnlnpw)hu
u 2018 p. h 4-h N 798-L
104011 1046 | Uo | o1 Swnwynipyntuubip W Ywqudwytpwniejniunwd «lwj-hnwjwlwu :rfn;r]u:;fjqupnlpjm - hnuhup 4
gnigwhwunbuubin dawynipwihtu dwnwugniepjwu YEunpnu» .
dwutiwéyninh untindnid
«Lwjwunwuh wagwhu
wwwnhbpwpwh» whnwlwu ng
wnlnpwyhu
Juquiwybipwnipniunud «Lwy- Cwjwuinwuh wqguiht ywwnlbpwupwhh
u 2018 p. h 4-h N 798-L
104011 1046 | G4 | 02 hnwjwlywu dywlynipwihu huubipnpn hwplyh wwpwoph :r](n;r]u:;rqumpnlpjm - hnuhup 4
dwnwugnipjwl YEuwnpnu» Ybpwunpngnid ’
dwutwgninh unbinddw
uywwnwyny Yybpwunpngiw
woluwwnwupubiph hpwlwuwgnid

Cwjwunwuh Lwupwwbnniejuu $huwuuubph bwfuwpwpnieniu

18. Mshakuyt 3033 Ly




Opwgpwhu Ns $huwtuwlwu gniguwuhsubp
S1 U [
2 ] = 8niguiuhgh niguithoh Goundwd wunuigh
ol 22 g pndpnfunieynt gniguitihop .
£ €3 s Opwgph Yud hwuwnwndud —— gniguihop W Y Cwunwnywsd b Swppbipnipjwu Wwwnwnp
z uwn wuwnyw
g_ ,g :‘ o | £ Pwnwpwlwuntpjwu Quihnpnghsp (Wywpwgpnieniup) Quithnpnphsh | Yuufuwwnbunwdp hwd i o hwpybinnt L t[:q 5 thwuwnwgh (u). 2-nud Upwd hpwywlwu wlnbph
wiwwwnw niujw
= = £ E g s dhonguindwt wudwunidp wnbuwyp hwgytinnt ruw u dwdwuwlw E nL[h gniguiuhpubtiph | hnnudubipp L up. 5-nud updwd mwppbipniejwu
c ufuw woybkwnnt
= g’ a 5 = | 2 dwdwuwlwhuwwn hwwnywdh 2 wnwppbpnie)niup wwpqupwunwiubipp)"
= 2l 223 =z | = hpwywlwi dwdwuwlwh
o £ 5| § & S| 5 Jush hwdwp hwdwp (uy 4-uy 3)
= c a< = 2 wlwh (+/-) wunwdnid
s E = £ 2 (uy 1+uy 2)
) 3 3 3
€ T o €
u P S 0 5 2 [N C [ d 1 2 3 4 5 6
«Lwjwunwuh wqgwjhu
wwwnlbpwpwh» whnwlwu ng
wnlnpwjhu
Yuqdwytipunipgniuntd «Lwy- «cu-funuuuit dauilnieushl
104011 1026 | 6u | o3 hunwwlut Gunipuht dwnwugnipjwl Yuwmpnu» dwutwéninh << Ywnwywpnipjwu 2018 p. hnyhuh 4-h N 798-U
dwnwugniejwi YEuwmpnu» uwntinddu ujuinung Guhnyph npnnud:
tinpptipnud
dwutwéninh unbinddwu Stinpptipnt
uywwnwyny Yuwhnyph
&tinpplipnud
M dwhHulnypwhl Lnpwpdwuubph wEnwlwu hwpdwnnid,
Gunwtianteiul wwhwwuwlwtu gninhubiph bwiuwgdtiph
104011 1075 | Uo | 01 qhmwhgmzjqnmwuwu Ywgunud, hnipwp&dwuubiph whinwywu
unud, whinnuiub
wyluwnwplb Yunwuwph Yugdnd, whnnwiubiph
Ywwnwpnud
Fwugwpwuwihu ([Fwugqupwiwiht wnwpywubtiph
104011 1046 | Uo | O1 Swnwynipyntuttip b hwywpwdniubiph wwhwwunieniu, pwuwlywlwu 1 1 -
gnigwhwunbiuubip hwdwpnd U hpwwwpwynud
Gpwdonwlwu hwdnyputiph, hwdtipgwjhtu
Gpwd G U u 2018 .unjtidpbiph 8-h N 1254-
104011 1168 | Uo | 04 nwdaunupyutnh Ywgdwybtipynieniuutiph Ynndhg < qmnw%{mnmmm Po-unjadpinh 8-
wwpwnybuwnh hwdbipgubp U npngnud:
hwdtipgwihu dpwapbph hpwywuwgnud
(Fwlqupwuwihu ([Fwuqupwiwiht wnwplwubph W
104011 1046 | Uo | Ol Swnwynipiniuutin b hwdwpwdniub whywunipjniu,
Iy n 1% np wwiny 13)
gnigwhwunbuubp hwdwpnud b hpwwjwpwynud
«Muwwndwdpwlnipwht wpgbing-
pwugwpwuutiph b wwwdwlywu
& Ywnwywpnipjwu 2018 p.hnlubkdptiph 25h N
104011 dhowdwph wwhwwunipjwu pwuwlywlwu 1202:[) npiz:ld:m f-hnlyntdptiph 25
Swnwjniintuy MNUY-h hwpluiht
wuwnwnwynpniejniutbiph thnfuhwwnnignud

Cwjwunwuh Lwupwwbnniejuu $huwuuubph bwfuwpwpnieniu

18. Mshakuyt 3034 ko




Opwgpwhu Dbhuwtuwlwu gnigwuhgubip (hwg. npwd)
= 38 u <
o i £ = miguitihzh 8nigwuhph Goundud Pwuwnwgh wunuanus
%w % g. = o ﬁpwqph::wd u 9 u u 9 htumwil{wi thnthnfunungniu gniguihop gnigwuhgp ol "Swippbipnipjwt wwwdwnp
- S 3 3 = E nuspuluitinie)uu wifinpnzfsp (Wyunuignieniin) wpnpnzfgh- | uitfuintunudp tipu pun hwpybtinnnidwdw | (npwdwpynughts thurunuigh (uy. 8-nud upqwd hpwywlywu wlhwnbiph
= = 33 £ 5 dhgngwndwt wujwunudp wnbuwlyp hwyytinnt huad u h shls huodb gniguiuhpubip hnudubnn L ut. Tont Godws
£ 5| 2 5 2 duwdwtiuluhuwn widwwwwnwufu | bwwhwwnywsdh [ dwiuu) hwyybtnne h nnwiubipp W uy. 11-nud U
= 3 2 & = | £ wu hpwywlywt | hwdwp (uy 7+u) | dwdwuwywhwn wnwppbpniepjwt Wywpqupwunwiubipp)”
g S| s s S| s Judh hwdw nwppbipniein
2 | £ pla g gz M wyh (4 8) quidnud netmnte)
c 3 Q4 = = 5 tup (uy 10-uy
= 5| g 9)
€ e 5 €
u P S i G 2 [ C 3 d 7 8 9 10 11 12
Ywwh, Lubipglinhy, Yndntuwy,
nbinlwwnjulw,
Luwnwpwlwunipywt dpwydwu b npw ubipyuywgnigswlw, hwdwlwnpgswiht,
Uwlnyeh ninpnh whnwlywu
u 1 towlidwt Yuwwnwpdwl hwdwywpgdwl, whnwlywu punhwunip punyph wy|
104011 1001 | uo | 19 g‘“"‘“‘-’h‘“”‘: ':;r"““ Zdu’l:jt' " |spwantinh wwitugnpduwt, Guldw, 516,935.90 15,500.00 532,435.90 53,817.99 | - 617.91 |Swnuynipynitibinh, uwppwynpaututiph
dﬂ:“}[l l‘hn n guluupq. . b hpwlwuwgdwu U dnuphwinphugh pupwghy unpngdwt b wwhwwudwu,
nufunphtigh wnwniejniittin (Jtpwhuljdwt) Swnwynipiniutbp gpwubiywlwiht ynetiph U hwgniunp
Swfuubiph, hnnudutipny (qudwu
qnpdpupwg) sdwiuujwd gnidwp:
hpwdwlwu whnbph twfuwgdtiph
104011 dawynui (thwuwnwpenetiph W/Ywd pwuwlywlwu
unwunwpuutiph punhwunip phyp)
Lunwpwlwunipjwl thwunwpenpbnh,
tiph, hwayb uubiph b
104011 gnwantph, huiz|findnienititiinh pwtiwlwljw
ybpnwdnipyniuibiph wwwpwuwnnid
(thwunwpnpbph punhwunin phin)
104011 Lwupwiht hpwgnynid (Ghongwnnwdubiph
rhun)
104011 Luwnwpwghutiph punniubnieyniu (dwpn)  [pwuwlwlywu
1 ubi du ]
104011 Yhdnwdubiph W pnnnpubiph nwuntduwuhpnu puiliwlwlut
(Rhyn)
Uhowqgquwiht hwdwgnpdwlgniejntu.
Lwdwdawjuwgptiph, hnipwantiph,
wp&wlwgnnue)niuubiph, dpwqnpbiph W wy
tinh 4, Lk &
104011 thwuwmwpnptiph dawynud, Lipywjwgyw putwlwyut

thwuwmwpneliph Yapwpebnu)
Ywndhputiph, wtintywwnynipyul,
wwpqwpwundubiph wpwdwnpnid
(thwunwpnebiph phyn)

Cwjwunwuh Lwupwwbnniejuu $huwuuubph bwfuwpwpnieniu

18. Mshakuyt 3035 Ly




Opwgpuwyh

Opwgnh nwuhsp
Lwnwpwlwuntpjwu
dhongundwu nwuhsp

Opwgph Yud

Pwnwpwlwuntpjwu
dhonguindwt wudwunidp

Quithnpnhsp (Wywpwgpnuenip)

Quihnpnzhsh
wnbuwyp

Dbhuwtuwlwu gnigwuhgubip (hwg. npwd)

8nigwuhph
hwunwingwsd

Ywufuwwnbundp
hwpybinnt
dwdwuwlwhwwn
Juwdh hwdwp

8nigwuhph
thnhnfununyniu
bipl punn
hwdwwwwnwufu
wb hpwywlwu
wywh (+/-)

Goundud
gmiguiuhpp
hwoytnnidwdw
uwlwhwwdwdh
hwdwin (uy 7+u)
8)

Pwuwnwgh
gmguiuhop
(npwdwplnuyht
Swifuu) hwyytinnt
dwdwuwlwhwwn
Juidnud

Lwunwwnyw
Sl
thwuwnwgh
gniguiuhpubip
h
wnwppbpniejn
tup (uy 10-uj
9)

"Swippbipnipjwt wwwdwnp

(uy. 8-nud upqwd hpwywlywu wlhwnbiph
hnnudubipp W uj. 11-nwd updwd
wnwppbpniepjwt Wywpqupwunwiubipp)”

= [MU Ynnp

T |Ywwwpnnh Ynnp

P
)

% |uthnpnghsh Ynnp

| Mwpwpubiph gwnpdh Ynnp

3

11

12

104011

Uhowqqujht hwdwgnpdwlgniejniu,
Lwunhwndubip, putwpynuiubip W
hwdwgnpdwlgnipyw wy| dhenguinnidubip

(dhgngunnudubiph ehyp)

pwuwlywlwu

104011

Uhegbipwubuswlwu funphpnwnyntejntu
U hwdwgnpdwygnipiniu.
Cwidwdwjuwgptiph, yuwjdwuwgptiph,
wp&wluwgnnie)niuubtiph, dpwqpbiph W wy
thwuwnwpenptph, dowynwd:
Lbipyuwjugywd thwuinwpnpliph
ybpwiplipyu) Yupdhputiph,
ntinblwwnynipjw wwpqupwunwubiph
wpwdwnpnud (hwunwenplinh ghyp)

pwuwlwlwu

104011

Uhoglipwwnbiuswlw funphprwwnynipintu
U hwdwgnpdwlgnipiniu. wunhwnidubip,
putwpynuiutip b hwdwgnpdwygniejwu
wy| dhongwnntdutip (Gdhgngwnnudubinh
rehyn)

pwluwlwlywu

104011

Ninnulh dwnwjnipyniuutp hwupniyejwp.
Uy uquwlbpwnipyniuutiphu
funphpnwwnynipjw wpwdwnpnul
(Yuquwybpwnipniuutnh putiwlp)

pwuwlwlwu

104011

Opwgptiph Junwywpnid/hwidwlwpgnud,
Ytpwhulnnnipgyni W dnuhwinphug
(Opwghn)

pwluwlwlywu

104011

Uowynipwhu wpdtiputiph
wwhwwuntntu

pwluwlwlywu

104011

Uowynipwhu wpdtiputiph nu
wnwplwubph
wpunwhwidwt/dwdwuwlwynp
wpunwhwUdwu nhdnwiubtiph
Yapndnipgnit b hwdwwwwnwujuwy
npndwl punniunud (nhdnwdubiph

pwwlp)

pwuwlywlwu

Cwjwunwuh Lwupwwbnniejuu $huwuuubph bwfuwpwpnieniu

18. Mshakuyt 3036 Ly




Opwgpuwyh

Opwgnh nwuhsp
Lwnwpwlwuntpjwu
dhongundwu nwuhsp

Opwgph Yud

Pwnwpwlwuntpjwu
dhonguindwt wudwunidp

Quithnpnhsp (Wywpwgpnuenip)

Quihnpnzhsh
wnbuwyp

Dbhuwtuwlwu gnigwuhgubip (hwg. npwd)

8nigwuhph
hwunwingwsd
Ywufuwwnbundp
hwpybinnt
dwdwuwlwhwwn
Juwdh hwdwp

8nigwuhph
thnhnfununyniu

bipl punn
hwdwwwwnwufu
wb hpwywlwu

wywh (+/-)

gniguiuhzp
hwoytinnidwdw | (ppuwdwpynuyht
uwYwhwwdwdh | dwfuu) hwpybwnnt
hwdwn (uy 7+u) | dwdwuwywhwun

Lwunwwnyw
Sl
thwuwnwgh
gniguiuhpubip
h
wnwppbpniejn
tup (uy 10-uj
9)

Pwuwnwgh
gniguihzp

Goundud

8) Juidnud

"Swippbipnipjwt wwwdwnp

(uy. 8-nud upqwd hpwywlywu wlhwnbiph
hnnudubipp W uj. 11-nwd updwd
wnwppbpniepjwt Wywpqupwunwiubipp)”

= [MU Ynnp

T |Ywwwpnnh Ynnp

P
)

% |uthnpnghsh Ynnp

| Mwpwpubiph gwnpdh Ynnp

3

9 10 11

12

104011

Upwlnipwihu wipndbtpubtiph n
wnwnplywubiph
wpunwhwudwu/dwdwuwlwynp
wpunwhwudwu hpwyniuph yuyugnpbiph
wnpwdwnpnud (jhgkughwubiph W
Lgpwlwgniejniutiph pwuwyp)

pwuwlywlwu

104011

dwidwuwywynp wpinwhwunwihg
Ybpwnwpajws dowlyniewihu
wnwplywubph unyuwywuwgnid
(Jowniewih wndtipubiph phin)

pwuwlywlywu

104011

Upwlnipwjht windbtpubiph
thnpdwgbinutiph hwdwwnwgpdw
hwyinbiph punniunud b dwutwghnwlwu
npwlwynpdwt YYuywlwuubiph
wpwdwnpnud (Yuwjwlwuutph phyp)

pwuwlwlwu

104011

Uswilynipuwiht wpdbipubiph’ whwnniejwu
wuntuhg qubint, whwniejwup
uyhpwpbiptint, ppuwgpuldwud
dawynipwihtu wpdbpubipp << yhinwlywu
wwhngubiph d2nwywl wwhwwuniejwuu
hwugubint, npwug tjuwndwdp
ubthwlwunipywu hpwyniupp
Yhpwywugubiint yepwpbipjw
wnwownyubiph ubphuywgnid
/dpwYnipwiht wpdbpubiph phyp/

pwluwlwlywu

104011

Ljwgwpwuh Jyuwjwlwuh wpwdwnpnid
(Yyuywlwuutiph phyp)

pwluwlwlywu

104011

Uowynipwhu wpdtiputiph nu dowynipwhu
Upwuwynipjwt wnwpYwubiph
wpnwhwidwy paypunynyeynd’
Juydtipwgqwd |niuwuywpubipngd
{wnwnywutiph phyp)

pwlwlwlywu

104011

Mundnipjwt b dawlnyph
hnipwpdwuubph wwhwwunipiniu

pwuwlwlywu

Cwjwunwuh Lwupwwbnniejuu $huwuuubph bwfuwpwpnieniu

18. Mshakuyt 3037 ko




Opwgpuwyh

Opwgph nwuhsp

Lwnwpwlwuntpjwu
dhongundwu nwuhsp

Opwgph Yud
Pwnwpwlwuntpjwu
dhonguindwt wudwunidp

Quithnpnhsp (Wywpwgpnuenip)

Quihnpnzhsh
wnbuwyp

Dbhuwtuwlwu gnigwuhgubip (hwg. npwd)

8nigwuhph
hwunwingwsd

Ywufuwwnbundp
hwpybinnt
dwdwuwlwhwwn
Juwdh hwdwp

8nigwuhph

thnhnfununyniu

bipl punn
hwdwwwwnwufu
wb hpwywlwu
wilywh (+/-)

Goundud
gmiguiuhpp
hwoytnnidwdw
uwlwhwwdwdh
hwdwin (uy 7+u)
8)

Pwuwnwgh
gmguiuhop
(npwdwplnuyht
Swifuu) hwyytinnt
dwdwuwlwhwwn
Juidnud

Lwunwwnyw
Sl
thwuwnwgh
gniguiuhpubip
h
wnwppbpniejn
tup (uy 10-uj
9)

"Swippbipnipjwt wwwdwnp

(uy. 8-nud upqwd hpwywlywu wlhwnbiph
hnnudubipp W uj. 11-nwd updwd
wnwppbpniepjwt Wywpqupwunwiubipp)”

= [MU Ynnp

T |Ywwwpnnh Ynnp

D

% |uthnpnghsh Ynnp

| Mwpwpubiph gwnpdh Ynnp

11

12

104011

Cwdwdwjubigdw ubipluwjugywsd
wwhwwudwu Gupwlw gnuinhubiph phyp

pwuwlywlwu

104011

Mbnnwubiph, htnwgnundw
woluwwnwupubiph hwjnbiph
nwnuwiuwuhpnieinit b hwdwwwinwufuwu
npn2dwt Yuywgned

pwuwlwlwu

104011

hwynbiph phyp

pwuwlwlwu

104011

enynynieiniutinh phup

pwuwlywlywu

104011

<nipwpdwl hwunhuwgnn hwdwihputiph
wdpwlwjdwy, Yepluuwgudwi,
thnthnfudwt b pwpblwpgiw
woluwwnwuplutiph pupwgpnid
hniwpdwuubiph wuynwugnipjwu
Ytpwhuynnnipniu

(hnigwpdwuutiph phyn)

pwluwlwlywu

104011

Mbendwu, Yypwywugudwu b
shtwpwpwlwu woluwwnmwupubiph
nwnwpkgnu (nwptinh phip)

pwuwlwlwu

104011

Twwnwpttswlwu dwpdhuubiph
putwpldwup ubplujwgynn nbuptiph
(Ywufuwwnbuynn phyp)

pwluwlwlywu

104011

1001

ug

06

Jwpswlwl uwppwynpnidubip

Lwdwlwpgswiht wbfuuhugh L
gpwubywlwihu gnyph dbinpplipnud

pwluwlwlywu

2,156.00

2,156.00

2,109.96

- 46.04

Fudwu gnpdpupwgnid wnwowgwd
wntwnbunud:

104011

1046

uo

01

(Fwugwpwuwihu
Swnwjnipiniuubp b
gnigwhwunbuubp

[Fwuqupwlwjht wnwplwubph b
hwywpwdniubiph wwhwwunte)ntu,
hwdwipnud U hpwwwpwynud

1,522,148.60

- 10,100.00

1,512,048.60

1,493,591.39

- 18,457.21

Swppbpnipiniup wwjdwuwynpyws
Yndniuw| Swnwynipniuubiph
hnnjwdny wnwowgwsd nuwmbunidny:

Cwjwunwuh Lwupwwbnniejuu $huwuuubph bwfuwpwpnieniu

18. Mshakuyt 3038 Lo




Opwgpwhu Dbhuwtuwlwu gnigwuhgubip (hwg. npwd)
] 38 u <
o i -§ = miguitihzh 8nigwuhph Goundud Pwuwnwgh wunuanus
£| &3 = Opugnh lud huauinuinud Ut u u ol "Swppbpnipjwt wwwniwn
3|5 ¢ Pwnwpwlwuntpjwu Quihnpnghsp (Wywpwgpnieniup) Quithnpnphgh | jwufuwwnbunudp pntpnfunuanyng gniguitinzn gniguitihzn thwuwnwgh MEHNALEIL t
- S 3 3 = E d dwit whdwhn b ol tipu pun hwpybtinnnidwdw | (npwdwpynughts Uhgtib (uy. 8-nud upqwd hpwywlywu wlhwnbiph
= niguw
g % a E = 3, hgnguindui wuitnudp wbuwlpn g dluétl mnhl hwdwwwwwufu | bwlwhwwndwsh | Swiuu) hwoybtnne amg h ZHn hnnudubipp b vy, 1-nud updwd
= 3| 2 gﬁ = | £ widuiuuihun wu hpwywlywt | hwdwp (uy 7+u) | dwdwuwywhwn wnwppbpniepjwt Wywpqupwunwiubipp)”
g S| s s S| s Juwdh hwdw wnwppbpniejn
2 | £ pla g gz M wyh (4 8) quidnud
£ 3 a4 5 £ 5 tup (uy 10-u)
S | 3|5 9)
€ e o €
u P S i 2 [N C 3 d 7 8 9 10 11 12
Muwhwwu U Uwjhu
104011 whujutinn putquiputiugh .
wnwpluttiph ehyp
104011 Muwhwwudnn gprwpwuwhu
wnwpywttiph ehyp
104011 Unjwuwpywsd gppbiph dhwydnpp
tinp pipjws Uwjhu
104011 np plnywd gnunuputiugh pwitwlwywl
dhwynpttiph ehyp
uph ubi
104011 Uwwuwpyynn pupbpgnnutinh pulwlwyul
rYwpwliwyp
u it Uwjhu
104011 wyuruuiplnn pwiquipubugh pwtiwlwljw
wjgbiniubiph pywpwtiwlp
104011 Yuwqdwltipwynn gnigwhwunbuutiph phyp |pwbwlwlywu
Uswynipwhu wpdtipubph biGYunpnuwhu
104011 nbnhwnyuwlwi snbdwpwunud pwuwlwlywu

dnunpuignywd wipdtipubiph phyp

Cwjwunwuh Lwupwwbnniejuu $huwuuubph bwfuwpwpnieniu

18. Mshakuyt 3039 Ly




Opwgpwhu Dbhuwtuwlwu gnigwuhgubip (hwg. npwd)
= 38 u <
= E = = miguitihzh 8nigwuhph Goundud Pwunwgh unu
2 € B Opwgph Yud hwunwinywd Sl .
5| 2 g. = o u u 9 u u 9 u bunud thnthnfunungniu gniguihop gnigwuhgp i h Swpplipnipjwt wwwnbwnp
wunw
- S 5 = = 5 nuspuluitinie)uu wifinpnzfsp (Wyunuignieniin) wpnpnzfgh- | uitfuintunudp tipu pun hwpybtinnnidwdw | (npwdwpynughts 9 (uy. 8-nud upqwd hpwywlywu wlhwnbiph
= =l =2 c s dhgngwndwt wujwunudp wnbuwyp hwpybinnt gniguiuhpubip
£ = a 2 = E} Gt h hwdwwwwwufu | bwlwhwwndwsh | Swiuu) hwoybtnne h hnnudubipp W uj. 11-nwd updwd
= 3| 2 gﬁ = | £ widuiuuihun wu hpwywlywt | hwdwp (uy 7+u) | dwdwuwywhwn wnwppbpniepjwt Wywpqupwunwiubipp)”
= =l = 2 £ 5 Sh hw b
g |£| PlEe £z Hhudh buaden 1 (4 8) quanyg | PRI
£ 3 a4 5 £ 5 tup (uy 10-u)
S | 3|5 9)
€ e o €
u P S i 5 2 [ C 3 d 7 8 9 10 11 12
u
104011 BSwdthnprnn gnigwhwunbiu (wpnwguw bl
gnigwhwunbutbiph phyp << dwpgtipnud)
([Fwugqupwuwiht Ywnpbph wywwnpwuwnnwd
S U
104011 U JEpwwwuinpwunnid (ywwpwundw: putwlwlw
Yepwwwwnpwunyws dwutwgbnubiph
rhun)
fuwnwpluyht, dnyunhuyhywghnt b Unynhwpjughnts Ypuntwfuwgdh
104011 1056 | Uo [ 01 Yhunuwpubph wpunwnpnieinit [Juwybpugpulwu Yhunuywputiph 424,449.20 424,449.20 419,258.90 | - 5,190.30 |hwjwn gniubuwint wywwnbwnny
wnuwnpnLRINLU Jéwpnudp sh uwnwpyby:
104011 Cwpniuwlyynn b unp uluynn it
fuwnuinljwjh Yhuntiwniph ehdp
104011 Twpniuwyynn b unp uluynn putwlwlut
dnywhujihlwghnt Yyhtinuuinutinh phun
104011 Cwpniuwyynn b unp uludnn pulwlwyut
Yuitipwgnuluts Yhtinuuiputiph phup
104011 1056 | uo | 02 ptun-prunn-$rlin huiwpwdnip | 4flin-pinn-ntin husdupuidnif 6,765.20 - 6,765.20 6,765.20 -
wwhwwudwu Swnwynipiniuubn |ywhwwunwd, Yepwlwugqunid
U uquyb huwhwuyb
104011 pulywuquybihp (wwindkuwhwuybihp) il
U pywjuwgynn hidtiph pwtilp

Cwjwunwuh Lwupwwbnniejuu $huwuuubph bwfuwpwpnieniu

18. Mshakuyt 3040 Ly




Opwgpwhu Dbhuwtuwlwu gnigwuhgubip (hwg. npwd)
= 38 u <
o i £ = miguitihzh 8nigwuhph Goundud Pwuwnwgh wunuanus
£| £3 = Opuignn ud huunuinws thnhnfununyniu nigwuh nigwuh: ol "Swipplipnipjwt wwwntwn
3|5 ¢ o | = Lwnwpwlwunipjwu Quithnpnahsp (uywpwgpnieniup) Quithnpnghsh | Ywufuwwnbundp ) gmguinzn gmgwtihzn thwuwnwgh MEHNALEIL t
- =| 23 = ' tipu pun hwpybtinnnidwdw | (npwdwpynughts (uy. 8-nud upqwd hpwywlywu wlhwnbiph
= = =2 c 5 dhgngwndwt wujwunudp wnbuwyp hwpybinnt gniguiuhpubip
£ = a 2 = 2 duwdwtiuluhuwn hwdwwwwwufu | bwlwhwwndwsh | Swiuu) hwoybtnne h hnnudubipp W uj. 11-nwd updwd
= 3 = gﬁ é = wu hpwywlywt | hwdwp (uy 7+u) | dwdwuwywhwn wnwppbpniepjwt Wywpqupwunwiubipp)”
o £ 5| § & S| 5 Juwdh hwdwp wnwppbpniejn
= = a< = 2 wywh (+/-) 8) Judnud u 10
£ e = £l 2 tup (uy 10-uy
=) 3 3 3 9)
€ T o €
u P S i3 G 2 [ C 3 d 7 8 9 10 11 12
«L& Uqquiht Yhunybuwnpnu» MNUY-h
U U Lhung, b ) Lub tinnigdwt b
104011 1056 | uo | 03 qguuht Yhtndpugntph Uqquiht Yhtundpwantiph hpwlurtwgnd 139,314.90 - 139,314.90 137,97043 | - 134477 |49 ELEUERGhush, gtnmigdu
hpwlwuwgnud nunuuwyppwywu hnnjudutipny
wnwowgwd nuwnbuntd:
fuwnwplwihu Yhunuluwnubiph U
104011 dniwhuwhlwghnt Yhunulywnpubiph putwlwlw
wpnwnpnpjwy wwwhnynwd ($hdkiph
puiiwlyp)
104011 1056 | Uo | o4 Puutnuiuidbpugnuijul sundipuignuuts yhtintyuiptibnh puiliwluywl 40,522.70 - 40,522.70 40,522.70 -
Yhundpwapbiph hpwywuwgnd  Jwpwwnpnipntu
Jwybpwagnwlwu Yhunuwpubiph
104011 wpuwnpnipjwu wwwhnynd ($hidkiph pwluwywlwu
puiiwlyp)
< Gt b uh a
M dwhHulnypuwhl nipwpdwuubiph wyhnwlywyu hwownnud, \
unutignipjut wwhwwiwlwu gninhubiph bwiuwgdtiph Swppbipngyniup wwydwuwynpwd b
104011 1075 | Uo | 01 hunwhbnwanunwyuil Ywgunud, hnipwpdwuubiph whinwywu 92,478.30 92,478.30 91,218.30 | - 1,260.00 [Ynuntuw| Swnwjntpeiniuutiph
N o Yuwnwuwph Juqunwd, wtnnwiubiph hnndwdny nunbudwsd gnudwp:
woluwwnwupubip
Ywwnwpnud
Lwhwgdjwsd b pnnupydwd
104011 hniwpdwuubiph Wywhwywuwlwu pwuwlywlwu
gnuhutiph phyp
104011 Twuwlhuwpgyws b gnigulugpud puiliwlwlut
hniwpdwuubiph ghyp
104011 Cwpqunynn, pudaulynn b Jywjwgnynn putwlwyut
hniwpdwuubiph pwuwyp

Cwjwunwuh Lwupwwbnniejuu $huwuuubph bwfuwpwpnieniu

18. Mshakuyt 3041 Lo




Opwgpwhu Dbhuwtuwlwu gnigwuhgubip (hwg. npwd)
= 38 u <
= R = miguitihzh 8nigwuhph Goundud Pwunwgh unu
Z| £ 3 5 onuanh ud hunwindud thnthnfu uu|  gmgwuhzp gmguiuhop ol "Swppbipnipywt wwwbwnp
S| 2 2 nthnfunungnt nigw
U u 2 u Gunuyj
- S 3 3 = E Punupuljulinie i Quunpnzhsp (lyupuignnieiniin) wpnpnzfgh- | uitfuintunudp tipu pun hwpybtinnnidwdw | (npwdwpynughts thurunuigh (uy. 8-nud upqwd hpwywlywu wlhwnbiph
= = =2 c 5 dhgngwndwt wujwunudp wnbuwyp hwpybinnt gniguiuhpubip
£ = a 2 = 2 Gt h hwdwwwwwufu | bwlwhwwndwsh | Swiuu) hwoybtnne h hnnudubipp W uj. 11-nwd updwd
= 3| 2 gﬁ = | £ widuiuuihun wl hpwywlwy | hwdwn (uy 7+u) | dwdwuwywhwn wnwppbpniepjwt Wywpqupwunwiubipp)”
= =| £ n Ny 7+y)
o £ 5| § & S| 5 Juwdh hwdwp wlnh (+/) 8) Judnug wnwppbpniejn
g g 4 = £ 5 tup (uy 10-u)
- |3 R 9)
€ T o €
u P S i3 G 2 [ C 3 d 7 8 9 10 11 12
104011 <npwpdwuubph Ywnwuwnpbph pwuwyp  [pwiwlwywu
Cwjyulywt ywwndwdawynipwiht
d u u tinki
104011 wnwlgnipjwl ghnwinbnbwunnt it
ounbdwpwund pywjuwgyws Juybpwagnph
pwlwlp
dwnwugyws U yEpwlyuwuguynn
104011 wwindwdwynipwih wuswpd pwlwlwlwu
hnipwpdwuubph wbnnuiubph phyp
< u b
104011 «cnizuinbuili: tnuintignph putiwljwlw
hpwwnwpwynwdubph phyp
Urwlnipwihtu wpdtiputiph Uowynipwiht Uowuwynipjw
104011 1075 | Uo | 02 thnp&wpliuntpjwl wnwplywubph dowynipwpwiuwlwi n 27,807.60 27,807.60 27,807.60 -
Swnwynipyncubip wpybunwpwuwlwl hnpdwplunipniu

Cwjwunwuh Lwupwwbnniejuu $huwuuubph bwfuwpwpnieniu

18. Mshakuyt 3042 Lo




Opwgpuwyh

Opwgph nwuhsp

Lwnwpwlwuntpjwu

dhongundwu nwuhsp

Opwgph Yud
Pwnwpwlwuntpjwu
dhonguindwt wudwunidp

Quithnpnhsp (Wywpwgpnuenip)

Quihnpnzhsh
wnbuwyp

Dbhuwtuwlwu gnigwuhgubip (hwg. npwd)

8nigwuhph
hwunwingwsd

Ywufuwwnbundp
hwpybinnt
dwdwuwlwhwwn
Juwdh hwdwp

8nigwuhph
thnhnfununyniu

bipl punn
hwdwwwwnwufu
wb hpwywlwu

wywh (+/-)

Goundud
gmiguiuhpp
hwoytnnidwdw
uwlwhwwdwdh
hwdwin (uy 7+u)
8)

Pwuwnwgh
gmguiuhop
(npwdwplnuyht
Swifuu) hwyytinnt
dwdwuwlwhwwn
Juidnud

Lwunwwnyw
Sl
thwuwnwgh
gniguiuhpubip
h
wnwppbpniejn
tup (uy 10-uj
9)

"Swippbipnipjwt wwwdwnp

(uy. 8-nud upqwd hpwywlywu wlhwnbiph
hnnudubipp W uj. 11-nwd updwd
wnwppbpniepjwt Wywpqupwunwiubipp)”

= [MU Ynnp

T |Ywwwpnnh Ynnp

D

% |uthnpnghsh Ynnp

| Mwpwpubiph gwnpdh Ynnp

3

11

12

104011

Upwlnipwiht windtiputiph W dpwlnipwihtu
upwuwynipjw wnwpwubph
thnpdwghunwlwl Ggpulwgnieniuutiph
pwlwyp

pwuwlywlwu

104011

Uowynipwhu wpdtiputiph
thnpdwghwnnipjwy ptwgwywnnid
ghunwhbwnwagnunwlwu punyeh
woluwwnwuputiph hpwlwuwgnid
(ghnwlwu wotuwwnwupubiph,
hnnywdubiph pwuwlyp)

pwuwlywlywu

104011

Uowlnipwpwuntejui b
wpybunwpwunipjwl puwgwywnh
Ytpwpbipjw| Gnwdujw nwuptpwgutiph
Yuquwybpunud (nialunhpubiph pwlwln)

pwuwlywlywu

104011

Ugwlnipwjht windbpubiph
thnpdwghwnipjwt pywjht wjwiubph
tnunpwigpnid b wpfuhywgnud (thwebph
puiiwlyp)

pwuwlwlwu

104011

1075

uoc

04

Uswlgnienit hwyjulwu
wwwndwdawynipwihu
hnipwp&wuubiph
Jwybpwgpdwup

Znipwpdwuubph |nuwulwpnid,
swihwannud, yhdwqpbiph punophtwynud U
Ybpwdunid, pwpwnbiqugpnid, gpuynp
wnpniputiph W wpfuhywjh jnuetiph
nwundbwuhpnigintl, hnwpdwuh
Juwybtpwagnh Ywqinw, Juybipugpywsd
hniwpdwuubtiph gnigwlubph Yugdnwd
puwn puwlwyuwypbiph

49,555.00

49,555.00

49,555.00

104011

Jwybpwgnpuws hnpwpswuutph phup

pwuwlwlwu

104011

1081

uo

01

Spwnwpwuwihu
Swnwynipyniutin

Ypwnwpwlwiht hwjwpwdniutiph
wwhwywunw b hwdwpnid, puetipgnnutiph
uywuwnpynud, gpunwpwuwhu
dhgngunnudubiph Yugqdwlpynud

1,238,585.20

1,861.00

1,240,446.20

1,235,221.40

- 5,224.80

Swppbpnipyniup wwydwuwynpuws £
4507.24 h.np. untpuhnhwihg b 717.56
hp. npwdwunphhg wnwowgwd
wntwnbunud:

Cwjwunwuh Lwupwwbnniejuu $huwuuubph bwfuwpwpnieniu

18. Mshakuyt 3043 ko




Opwgpwhu Dbhuwtuwlwu gnigwuhgubip (hwg. npwd)
= 8 u <
o i -§ = miguitihzh 8nigwuhph Goundud Pwuwnwgh wunuanus
£| £3 = Opuignn ud huunuinws uu u u ol "Swipplipnipjwt wwwntwn
3|5 ¢ Pwnwpwlwuntpjwu Quihnpnghsp (Wywpwgpnieniup) Quithnpnphgh | jwufuwwnbunudp pntpnfunuanyng gniguitinzn gniguitihzn thwuwnwgh MEHNALEIL t
- S 3 3 = E d dwit whdwhn b ol tipu pun hwpybtinnnidwdw | (npwdwpynughts Uhgtib (uy. 8-nud upqwd hpwywlywu wlhwnbiph
= nigw
g % a E = 3, hgnguindui wuitnudp wbuwlpn g dluétl mnhl hwdwwwwwufu | bwlwhwwndwsh | Swiuu) hwoybtnne amg h ZHn hnnudubipp b vy, 1-nud updwd
= 3| 2 gﬁ = | £ widuiuuihun wu hpwywlywt | hwdwp (uy 7+u) | dwdwuwywhwn wnwppbpniepjwt Wywpqupwunwiubipp)”
g S| s s S| s Judh hwdw nwppbipniein
2 | £ pla g gz M wyh (4 8) quidnud ne
£ 3 a4 5 £ 5 tup (uy 10-u)
S | 3|5 9)
g | ? S| €
u P S i 2 [N C 3 d 7 8 9 10 11 12
Muwhuwyw uwhu
104011 whujuitinn gnuinpuitiugh pwuwlywlwu
hwywpwdniubiph dhwynpp
G uwjhu h Sniutipu
104011 nuinuipuiliuyhl huupwdnditn pwitwlwywl
ognwignpdnn puptingnnutinh phyp
104011 Uwwuwpyyws gqpptiph dhwynpp pwlwlwlwu
Lwupwihtu (hwdwjupwihu)
gpwnwpwlutiph Yunpbph ywwnpwunnd
104011 U JEpwwwinpwunnd (wywwnpwungwsd b |pwtwlwlwu
Ybpwwwinpwunyws dwutwgbinubiph
ehdp)
Spwnwpwlwiht hwjwpwdniubiph
tinp ptipwd
104011 hwiwpdwt uwwinwyny dkinp phipduw pulwlwyul
hpwunwpwynteniutbph (gppbip b
wwppbpwlwttp) dhwdnpp
h dub
104011 Elsywpnuwght hpwwwpwynwiubiph pulwlwyul
pwdwUunprwgpntd (Ghwynn)
di u u
104011 Swndwljwu gpunuipwuh (phphnpni) puitiwlulut
Ynndhg uwywuwplynn dwpgtiph phip
«CUunwublwu gpunwnpuuwdupy’ uwlwy
104011 owndniiwl U hwodwunwd wudwug pwlwlwlwu
uwwuwnynn gpuinwpwliiinh phyp
<puwnwpwlynn waquyh
dwwnbuwghwnigjw pupwghy n
104011 htnwnwné gwultiph U Jhawwgpulwu  |pwuwlwlwu

nyjwubiph Swwp (hpwwnwpwswywu
dwdny)

Cwjwunwuh Lwupwwbnniejuu $huwuuubph bwfuwpwpnieniu

18. Mshakuyt 3044 ko




Opwgpwhu Dbhuwtuwlwu gnigwuhgubip (hwg. npwd)
= E E = Smguiungh 8nigwuhph Goundud Pwunwgh Cusutnuini
%w EE g. = Opugnh lud huauinuinud thnthnfunungniu gniguihop gnigwuhgp ol "Swippbipnipjwt wwwdwnp
o 3 3 3 o E Pwnwpwlwuntpjwu Quihnpnghsp (Wywpwgpnieniup) Quithnpnphgh | jwufuwwnbunudp bt pun hugybinnidwidu | (npudunnuht thwuwnwgh (4. 8-nd Uy hpuuilurt wlnbph
= = =2 c 5 dhgngwndwt wujwunudp wnbuwyp hwpybinnt gniguiuhpubip
£ = a 5 = 2 duwdwtiuluhuwn hwdwwwwwufu | bwlwhwwndwsh | Swiuu) hwoybtnne h hnnudubipp W uj. 11-nwd updwd
= 3 EA=S é = wu hpwywlywt | hwdwp (uy 7+u) | dwdwuwywhwn wnwppbpniepjwt Wywpqupwunwiubipp)”
= £ L 3 é g J,é Jwdh hwdwp whnh (+) 8) Judnug nwppbipniegn
= 3 Q4 = = 5 tup (uy 10-uy
> | 5 ) 9)
€ e o €
u P S i 5 2 [N C 3 d 7 8 9 10 11 12
104011 Uwwnbuwghnwlwl gpwugnudutiph bl
pwlwyp
Snph (ISBN), uninwgpwlwu
104011 hpwunwpwyniejniuubiph (ISMN) unwgnn  |pwuwlwlwu
hpwunwpwynieniuutiph pwuwyp
104011 ISSN-nud pungnyywd wwppbipwlwuubiph putwlwlw
rhup
104011 Uowljwd nwnwwnbuwlubiph pwuwlyp pwlwlwlwu
«wjwunwh waquiht gpunwpwus
104011 MNUY-h gpuinunipjw pwugwpwund  |pwtwlwlwu
wwhywiynn wnwplwubiph phip
«Lwjwunwth waquiht gpunwpwus
104011 MNUY-h gpuinwnipjwl pwugwpwuh pwlwlwlwu
wygtiniutinh ehup
Lwupwghinwpwuwiht, <wjwunwih
wuwiwndniginiup b hwy dowlynypp
ubiplwjwgunn, Ubp d&dtphu U upwug 1.«Gpwptip» UMC-h wwjdwuwgph
dwdwuwlp ubpyuywgunn, [ndnud (1200.0 hwa.npwd),
hnpbjwuwlwl, onwpwagh gpnnubipp 2.6.2upkugh «6pyhp Lwhph»,
hwytiph b <wywunwuh dwuht, nwuwlwu S.Uwpnjwuh
|Ggniubiphg wpwsd pwpgdwunte)niutbp «Muwndqwdpubip» LEnhuwlwjhu
104011 wa [ us | o Ipuluwnipyut hpwnupugne |(UUPY arwbwbniend), Eplubh 2800- 55,522.00 ; 55,522.00 51,007.00 | - 3,615.00 |[MMUF «Uubus dnfin» (Euynu)
wdjwyhu udhpdws, Cwjuwnwuh Unweht wninhngpptiph (1050.0 hwa.npwd),
Lwupwuybinnipiwt 100-wdjwyhu, L (&Fnuiwujwuh «Gplhwinnpjulyy»
Yndhwnwuh 150-wdjw hnpbywuhu (1365.0 hwq.npwd) gpph
udhpqws, <njhwutbu fnuiwtjwuh 150- hpwwnwpwynudp shpwlwuwgubin
wdjw hnpbywuhu udhpqus, wwwndwnny wwjdwuwagpbip stu
Elywpnuwght, wninhngppbip, Ppwywl Yupyti:
wjpnipkuny gpwlwunipjwu
hpwwnwpwynidubp

Cwjwunwuh Lwupwwbnniejuu $huwuuubph bwfuwpwpnieniu

18. Mshakuyt 3045 ko




Opwgpwhu Dbhuwtuwlwu gnigwuhgubip (hwg. npwd)
= 8nigwuhph Lwunwnyuw
= EE E g Opwgph Yud hwunwinywd Smguiungh Saunuid Puunugh Sl
5| 2 2 = thnthnfunungniu gniguihop gnigwuhgp "Swippbipnipjwt wwwdwnp
3 ,g :‘ o | £ Pwnwpwlwuntpjwu Quihnpnghsp (Wywpwgpnieniup) Quithnpnphgh | jwufuwwnbunudp bt pun hugybinnidwidu | (npudunnuht thwuwnwgh (4. 8-nd Uy hpuuilurt wlnbph
= =l =2 g s dhgngwndwt wujwunudp wnbuwyp hwpybinnt gnigwuhgubip |,
£ = a 2 = 2 duwduwtiuwh hwdwwwwwufu | bwlwhwwndwsh | Swiuu) hwoybtnne h hnnudubipp W uj. 11-nwd updwd
wiwuwlwhwwn
= 3 = gﬁ é = wu hpwywlywt | hwdwp (uy 7+u) | dwdwuwywhwn wnwppbpniepjwt Wywpqupwunwiubipp)”
o £ 5| § & S| 5 Juwdh hwdwp snud wnwppbpniejn
g s a = S| = wlwh (+/) 8) Jwsdn
= E < 3 tup (uy 10-uy
> | 3 R 9)
€ T o €
u P S i 2 [N C 3 d 7 8 9 10 11 12
104011 Lwupwghnwpwuwiht gpuwlwunipniu bl
(wuniu ghpp)
Lwjwunwuh wwwndnipyniup U hwy
104011 dawlnypp ubpyujwgunn gpwlwuntpnt |puwtiwlwlywu
(wunwu ghpp)
Utip ddtiphtu U upwug dwdwuwyp
104011 ubiplwjwgunn gpulwunipniu (wuntu pwlwlwlwu
ahpp)
104011 <rr11pb;_|u1‘uujl{tu‘u gpwljwuntpyntu (wuntu bl
anpe
104011 Ouunuiqgh gnnntiing huytiph puiliwlwyul
<wjwuwnwuh dwuht (wuntu ghpp)
Twuwlwu Ggniubphg wpdwd
104011 pwpgdwuntpniuubp (wuwnhy pwuwlywlwu
ghwlwunteintt, wuntu ghpp)
104011 Gplwuh 2800-wdjwyhtu udhpdud pulwlwlut
gqpwlwunieiniu (wuniu ghpp)
Cwjwunwuh Unwoht Lwupwwbnnipjwu
104011 100-wdjwyhu udhpywsd gpuwlwunentu pwuwlywlwu
(wtnwu ghpp)
. Yndhwnwuh 150-wdjw hnpbywuhu il
udhpywsd qpuiljwunipnit (wuntu ghpp)
<nghwutbiu @Fnidwiywuh 150-wdjw
104011 hnpligpwuht udhpdud gpuljwunieniu pwlwlwlwu
(wuniu ghpp)
104011 Eliyunpnuwiht gpulwunieyniu (wuniu bl

ahpp)

Cwjwunwuh Lwupwwbnniejuu $huwuuubph bwfuwpwpnieniu

18. Mshakuyt 3046 Ly




Opwgpwhu Dbhuwtuwlwu gnigwuhgubip (hwg. npwd)
= 38 u <
o i £ = miguitihzh 8nigwuhph Goundud Pwuwnwgh wunuanus
%w % g. = o ﬁpwqph::wd u 9 u u 9 htumwil{wi thnthnfunungniu gniguihop gnigwuhgp ol "Swippbipnipjwt wwwdwnp
- S 3 3 = E nuspuluitinie)uu wifinpnzfsp (Wyunuignieniin) wpnpnzfgh- | uitfuintunudp tipu pun hwpybtinnnidwdw | (npwdwpynughts thurunuigh (uy. 8-nud upqwd hpwywlywu wlhwnbiph
= = =2 c 5 dhgngwndwt wujwunudp wnbuwyp hwpybinnt gniguiuhpubip
£ = a 2 = 2 Gt h hwdwwwwwufu | bwlwhwwndwsh | Swiuu) hwoybtnne h hnnudubipp W uj. 11-nwd updwd
= 3| 2 gﬁ é = widuiuuihun wu hpwywlywt | hwdwp (uy 7+u) | dwdwuwywhwn wnwppbpniepjwt Wywpqupwunwiubipp)”
- < 5 5§ 5 S| 5 Jwsdh hwdwp h 8) Juidnd nwppbipniein
- wdnt
g g 4 = £ 5 wlnh (. tup (uy 10-u)
= | 5|z 2
€ e 5 €
u P S i3 G 2 [ C 3 d 7 8 9 10 11 12
104011 Unwnhngnpplip (wuntu ghpp) pwlwlwlwu
u tu u u
104011 Ppuwyywu wipnipuny gpwlwunte)ni putwlwlw
(wuniu ghpp)
Swppbipnpyniup wwjdwuwynpyws
Uthjninpwhwy, wgquyjhu «Uhugwp» tignhubiph wqquihu
uub u u ) iy <Y dhg «b u
104011 u24 [uo | 02 Ugulygninil gpuluinieyals | thnppudutitinyeinitibbph, «Unuwightt ghnp, 36,806.80 | - 186100 34,945.80 3467080 | - 275,00 [Tudnnnu> € lndhg <banhului
hpwwnwpwldwup wipndwjht, pupgiwlwlwu htiphwpubp» (kqnhtiptiu) gpph
gpwlwuntpjwu hpwwnwpwynwdubp hpwwnwpwynudp shpwlwuwgubin
h u U (wuntu
104011 Uthjninpwhwj gpuiljwtnipyni (wunt it
ghnp)
ukip (wuntu
104011 <wjwqgh onwnwahp qpnntibin (wunt pulwlwlut
ghnp)
u u dwut uub
104011 qquuts thpnuduitinie)nibinh pwuwlwlywl
gpwlwunteintt (wuntu ghpp)
104011 «Unwoht ghpp» (wuntu ghpp) pwluwlwlywu
104011 Upndwihtu gpuwlwungeniu (wunta ghpp)  |pwlbwlwlywu
104011 [Fwpgiwuwlwu dpwgpkip pwuwlywlwu
U dwd
104011 124 | uo | o3 Mt dwdnih MNbnwlwt dwingh hpunupuynu 69,297.40 69,297.40 69,297.40 -
hpwwwpwynd

Cwjwunwuh Lwupwwbnniejuu $huwuuubph bwfuwpwpnieniu

18. Mshakuyt 3047 to




Opwgpwhu Dbhuwtuwlwu gnigwuhgubip (hwg. npwd)
= 38 u <
o i £ = miguitihzh 8nigwuhph Goundud Pwuwnwgh wunuanus
%w % 3 = Opugnh lud huauinuinud thnthnfunungniu gniguihop gnigwuhgp ol "Swippbipnipjwt wwwdwnp
g_ ,5 :‘ o | £ Pwnwpwlwuntpjwu Quihnpnghsp (Wywpwgpnieniup) Quithnpnphgh | jwufuwwnbunudp bt h bondwd d u thwuwnwgh 8 todws u b
= 3 = 2 g Jwi wodwbnd b hwodt nu puwn wzytnnidwdw | (npwdwplnuyh uhoub (uy. 8-nud Uquwd hpwywlwt whnbiph
S| £|3z%2 - henguindul wtijuinudp bl wadbunne Yuwluhunduidh | Sufu) hugginne | S92 | nbng b uy. Tend tggus
£ 5| 2 5 2 duwdwtiuluhuwn widwwwwnwufu | bwwhwwnywsdh [ dwiuu) hwyybtnne h nnwiubipp W uy. 11-nud U
= ER ) é = wu hpwywlywt | hwdwp (uy 7+u) | dwdwuwywhwn wnwppbpniepjwt Wywpqupwunwiubipp)”
o g Eg= S | 5 YJwdh hwdwp wnwppbpniejn
Ll 3 & 3 = Snud
= = § 2 3 =3 wywh (+/-) 8) Judnu
= 3 = £ 5 tup (uy 10-uy
> | 3 g5 9)
€ T o €
u P S i3 G 2 [ C 3 d 7 8 9 10 11 12
«Lwjwunwuh <wupwuwbnnigniuy» phpeh
104011 nwpblwu hpwwnwpwlynn hwdwpubph | pwuwlwlwu
rehdn
«Mtauyniphw Updeuhw» phipph
104011 nwnpbywu hpwwwpwlynn hwdwnpubtph pwuwlywlwu
ehip
Swppbpnipniup wwjdwuwydnpyuws &'
Uggwyht thnppwdwuunteniuttiph hwdwp 1.«Swpniu»wduwghp» UMC Ynndhg
Lwjwuwnwunwd |nyu nkulnn, sinwwagnqwd hwdwpubiph wpnynitupnid
104011 1124 | Uo | 04 fls winului dwdnp Upunipui, gpuu, wdtunh, 45,887.10 45,887.10 44,667.10 | - 1,220.00 Ybuipnudp sh yunwipdy: 2.
hpwunwpwynd puliwnwwnnipntt wwpniuwynn inwwghp «Mwuwpjwuubph punnwuhp» UNEC-h
U ElEYwnpnuwghu, dwpquiht dwdnih («Ngnt Ywus» ehipe) htitn
hpwinwpwynwdubp wuwydwuwghp sh Yupyb (sinuwgngus
hwdwnubtiph wpnyntup):
Uggwyht thnppwdwuunieniuttiph hwdwp
104011 Cwjwunwunud |nyu nbutinng mywghp pwuwlywlwu
(nwwnywdhgngubip (dwdnyh phyp)
Uswlnipwiht ninnjuidnipiwt Yud
dpwlnyph pwdhu niubkignn,
104011 hwupwwbnwlywu nywghp b pwlwlwlwu
FlGyunpnuwght (pwndwdhengubip (dwdnih
rehun)
104011 Gpwlwt mywghp b bEYnpnuwhu puiliwlwlut
wwpptipwywiubp (dwdnyh ehyp)
Upybuwnh putwnwuwnteintt wwpniiwynn
104011 Eiywpnuwihu pwwndwdhgngubip (wdnih [pwbiwlwlywu
rhdp)
104011 Upwlnipwiht Yjwup jniuwpwunn bl

dwpqujht dwdny (dwdnih ehyp)

Cwjwunwuh Lwupwwbnniejuu $huwuuubph bwfuwpwpnieniu

18. Mshakuyt 3048 Ly




Opwgpwhu Dbhuwtuwlwu gnigwuhgubip (hwg. npwd)
= 38 u <
= i = g o mguitihzh Snigwuhoh ayngud Pwuwnwgh wunuanus
£| £3 = nuagnh lud huunuinws thnhnfununyniu gnigwhgp gniguhpp ol "Swippbipnipjwt wwwdwnp
S
3| 5 :- o | £ Pwnwpwlwuntpjwu Quihnpnghsp (Wywpwgpnieniup) Quithnpnphgh | jwufuwwnbunudp bt husdbinmduwd d u thwuwnwgh 8 todws u b
] = 23 = 2 nu puwn wzytnnidwdw | (npwdwplnuyh (u. 8-nud pquwid hpujuiljuts wlntinh
= = =2 c 5 dhgngwndwt wujwunudp wnbuwyp hwpybinnt gniguiuhpubip
£ = a 2 = 2 duwduwtiuwh hwdwwwwwufu | bwlwhwwndwsh | Swiuu) hwoybtnne h hnnudubipp W uj. 11-nwd updwd
wiwuwlwhwwn
= 3| 2 gﬁ = | £ wu hpwywlywt | hwdwp (uy 7+u) | dwdwuwywhwn wnwppbpniepjwt Wywpqupwunwiubipp)”
g S| s s S| s Sh hwd b
o g 5| § & S| 5 Ywsh hwdwp / g Snud wwpptipnuegn
g | E g2 |g|z2 wljinh (+-) ) uidny up (1000
=3 g £ 3 oty J
=) 3 3 3 9)
€ T o €
u P S i3 G 2 [ C 3 d 7 8 9 10 11 12
Uswlnipwiht ninnyudnipiniu niukignn
104011 FlGYunpnuwghu unpwuwnmbing |pwndwdhong |pwuwlwlwu
(dwdnyh ehun)
StinGlwwnynipywu dtnpptipdwu, [Stnb{wwnyniepjwu Ghnppbipdw,
104011 1124 [ Uo | 05 wwhwywudwt b wpuhjwgdwt  |wwhwywudwy U wpfuhjugdwu 80,707.30 80,707.30 80,707.30 -
Swnwjnipyntuttin Swnwniiniuubip
104011 Qtinpplipdwd nbntlwwndnipju dwywp bl
(dbqwipw)wn)
104011 Muthujuilijwd b wiphpuigyus pwitwlwywl
Inwuwuluptitiph ehyp
UM pypubipnud
< bnptiapne UME tiplpubipnud
104011 1124 [ Uo | 06 hbnnwuwnwnwnhndpwgptiph hh hnd biph hnuipduwynud 175,500.00 175,500.00 175,500.00 -
nniutnwnwinhndpuw nwpawlnt
hbnwpéwynid fHnenantn n
104011 Ltnnwwnwnbuwht hwnnppnuiutph phyp |pwbwywlwu
104011 Mwnhn hwnnpnnwiutiph ghyp pwuwlywlwu
104011 124 | Uo | o7 Fpuiuili Guinutignipjuil it duinwignipjut wuhujubitut b 14,714.90 14,714.90 14,714.90 -
wwhwwund U mwpwdnid nwpwdiwt Swnwjnipintiubiph dwwnnignud
Snph, nuughp wpnwnpuuph b wg
hpwwnwpwynipjniuubph 2unphwunbuubph,
104011 gnigwhwuntuubph, wnuwywédwnubiph pwuwlwlwu
(ubpwinju dhowqquiht) Ywaqdwltpujnid
(Uhgnguinnuiutinh ehun)
Shunwlywu hwdwdnnnyubph, gpuljwu
thwnwwnuubiph, dngnypubph,
104011 ghunwdwynipwiht funphpnudnnnyubiph, |pwuwlwlwu
hwunhwnwiubph, gpulwu GpEYnubiph
wugyuwgnud (dhongwnnudutiph phyp)

Cwjwunwuh Lwupwwbnniejuu $huwuuubph bwfuwpwpnieniu

18. Mshakuyt 3049 Ly




Opwgpwhu Dbhuwtuwlwu gnigwuhgubip (hwg. npwd)
= 8 u <
= i = g o mguitihzh Snigwuhoh ayngud Pwuwnwgh wunuanus
£| £3 = nuagnh lud huunuinws thnhnfununyniu gnigwhgp gniguhpp ol "Swippbipnipjwt wwwdwnp
S
3 ,g :‘ o | £ Pwnwpwlwuntpjwu Quihnpnghsp (Wywpwgpnieniup) Quithnpnphgh | jwufuwwnbunudp bt husdbinmduwd d u thwuwnwgh -nul totlwd u b
= 23 = [ = g Jwi wodwbnd b hwodt nu puwn wytnmdwidw | (npudwpynugh uhoub (u. 8-nud pquwid hpujuiljuts wlntinh
= = E c 5 hongundwt wujwunwdp wnbuwyp wyybinnt gnigwuhgubip
£ = a 2 = 2 duwdwtiuluhuwn hwdwwwwwufu | bwlwhwwndwsh | Swiuu) hwoybtnne h hnnudubipp W uj. 11-nwd updwd
= 3 = gﬁ é = wu hpwywlywt | hwdwp (uy 7+u) | dwdwuwywhwn wnwppbpniepjwt Wywpqupwunwiubipp)”
o £ 5| § & S| 5 Juwdh hwdwp wnwppbpniejn
= = a< = 2 wywh (+/-) 8) Judnud u 10
s E = £ 32 tp (uy 10-y)
o) 3 3 3 9)
€ e o €
u P S i G 2 [N C 3 d 7 8 9 10 11 12
Snph, nwwahp wpnwnpuiph b wy
hpwunwpwynie)niutbiph dhowaqgquyhu
104011 gnigwhwunbutbipht, nuwywdwnubphu puitiwlwlut
U wy dhgnguinnidubiphu <<
dwutiwygniejw wywhnynid
(dwutiwyhgutiph phyp)
Swppwywu dwuliwghnwgywsd
104011 146 | Uo | 88 hwlpulppnipnd (Gulny bpudznuliul quipnglnnd nungiul 157,361.40 157,361.40 157,361.40 -
nuipenie) 2 J[e
ninpun) YJugdwytipynwd
104011 Upwybpuinutiph phyp pwuwlywlwu
du u dwiul 5
Shituluil duitughuwguw Gpwdonwlywu nupngubipnud nwunigdwu
104011 1146 | UD | 92 hwupwyppnipiniu (Gwlnyeh 156,305.20 156,305.20 156,305.20 -
ninpun) Ywquiwytpunid
104011 Upwlbkpwnubiph phup pwlwlwlwu
104011 Unghwjwuwbtiu wuwwwhny punwuhpubph pulwlwyul
Gpbluwubph pYwpwuwly
Uhguwlwpg dwutwghnwgywd
Gpwd: u utipnud dwiu
104011 146 | uo | 96 hupwyppenipnit (Upwlnyeh |2 d2 sl nnglnnud nwunigdu 66,535.30 66,535.30 66,535.30 -
ninpen) Yugdwltipynwd
104011 Upwlbpuwutiph phyp pwuwlywlwu
104011 Unghwjwuwbtiu wuwwwhny punwuhpubph putwlwyut
tpbluwubph pYwpwuwly
Upnunupnguu Cwipdwunwd kpbfuwubiph
bi bi u u b
104011 148 | uo | 09 i hupwlnipi (Uwlnyph | F Rl Yneniejuw 102,286.50 102,286.50 102,286.50 -
ninpun) gbinwghnwlwl nwuwnhwpwlniejwu
Ywquwltipunid

Cwjwunwuh Lwupwwbnniejuu $huwuuubph bwfuwpwpnieniu

18. Mshakuyt 3050 ko




Opwgpwhu Dbhuwtuwlwu gnigwuhgubip (hwg. npwd)
= 38 u <
= R = miguitihzh 8nigwuhph Goundud Pwunwgh unu
Z| €3 = Onuqgph Ywd hwunwndwsd i - uh uh Sl — u P
z nthnfuntunyny nigw nigw w niRjwl wwnbwny
3|5 ¢ o | = Lwnwpwlwunipjwu Quithnpnahsp (uywpwgpnieniup) Quithnpnghsh | Ywufuwwnbundp ) gmguinzn gmgwtihzn thwuwnwgh MEHNALEIL t
- =| 23 = ' tipu pun hwpybtinnnidwdw | (npwdwpynughts (uy. 8-nud upqwd hpwywlywu wlhwnbiph
= = =2 c 5 dhgngwndwt wujwunudp wnbuwyp hwpybinnt gniguiuhpubip
£ = a 2 = 2 duwdwtiuluhuwn hwdwwwwwufu | bwlwhwwndwsh | Swiuu) hwoybtnne h hnnudubipp W uj. 11-nwd updwd
= 3| 2 gﬁ = | £ wu hpwywlywt | hwdwp (uy 7+u) | dwdwuwywhwn wnwppbpniepjwt Wywpqupwunwiubipp)”
= =l = 2 £ | 5 Sh hwd b
o £ 5| § & S| 5 Ywdh hwdwp wnwppbipnien
= = = = 2 wywh (+/-) 8) Judnud
c 3 Q4 = £ 5 tup (uy 10-uy
S | R 9)
g | ? S| €
u P S i3 G 2 [ C 3 d 7 8 9 10 11 12
104011 Gpbluwubph hwwnly unbtindwgnpdwlwu it
YEuwnpnunid ungnpnn Gpkfuwubph phup
Gpwdanmwlwu b wpybuwnh L bpwdpnwlwu b wpybuwnh
nwpngubkpnud nwnngubpnud dkpnnwywu
104011 1148 [ Uo | 21 72,502.10 72,502.10 72,502.10 -
nwnwuwdbpnnwywu woluwnwuptbiph Juqudwlybpwnu W
wofuwwnwupubp hpwywuwgnid
Gpwdonwlwu, wpytunh, ginwpybiunp b
wwpwpybuwnh nwpngubpnud
104011 nwnuitwdbpnpulywi woluwwnwupubiph | pwuwlwlwu
YJuguiwytpynud wpwybpinutiph
nunighsubiph hwdwp
Sbnwpybunwlw Ypenipintu
uwgunn hbuwyb u ub
Gpwdonwlyw, wpybumnhp b Enml{u;gmg '"’thml{ ml:;”;qr}?png nh
w wqu w un w
gbnwpytuwnh nwpngubiph NG praasuh un k
hwdwp nunuiuwlywu un tpennuijuil Y6 pntbtnh
104011 1148 | Uo | 22 éannnhnh f}luqu-ﬂphﬂhn gnpdniutinuejw wwwhnynud, 13,000.00 13,000.00 13,000.00 -
' ' undwu
dbennuwlul Skntwplltph nuuwuindul ghuwuipulnhl
dowynud b hpwwnwpwynud tpennUbinh ubpnpnud U Unp
2 n n nunutwdbenpulywu dEnuwnpyutph W
ninbannabinh wwwhndnid
104011 Nwnuwiuwlwt dEnuwnlyutiph pulwlwlut
hpwwnwpwynid (dEntwpYubiph phdp)
26wpdwd 5579.0 hwg.npud
qnuiwphg' 1) 4619.0
hwg.np. gnuidwpp hpwwuwgywd
Bpwdrnwlwu b wpybuwnh qunwdubiph wpryniupnud nmunbiudwd
104011 u4s | uo| 38 mupngUtinh wawlbpbphls - Uqquiht, iyl U wpughl 15,000.00 15,000.00 9,421.00 | - 5,579.00 |3"Iw b 2) 960
pwdonwlw gnpdhpubinny, qnpdhpubiph dtinpplipnud hwg.np. gnudwpp «UUEL» UNC-h
wwwhnyntd htin wwydwuwghpp dhwlnndwup
ndbnt wpnyniupt £ Gpudonwlwu
qnpdhpubipp sdwwnwuwpwptine
wwwnbwnny:

Cwjwunwuh Lwupwwbnniejuu $huwuuubph bwfuwpwpnieniu

18. Mshakuyt 3051 kg




Opwgpwhu Dbhuwtuwlwu gnigwuhgubip (hwg. npwd)
= 8 u <
o i -§ = miguitihzh 8nigwuhph Goundud Pwuwnwgh wunuanus
£ €3 s Opwgph Yud hwunwinywd Sl .
3 E = < Lwnwpwlwunipjwu Quithnpnahsp (uywpwgpnieniup) Quithnpnghsh | Ywufuwwnbundp pnipnfununynity gniguitinzn gniguitihzn thwuwnwgh Sunptinnejuli wuwnGuing
- =| 23 g% d dwit whdwhn b ol tipu pun hwpybtinnnidwdw | (npwdwpynughts Uhgtib (uy. 8-nud upqwd hpwywlywu wlhwnbiph
= nigw
g % a E = 3, hgnguindui wuitnudp wbuwlpn g dluétl mnhl hwdwwwwwufu | bwlwhwwndwsh | Swiuu) hwoybtnne amg h ZHn hnnudubipp b vy, 1-nud updwd
= 3| 2 gﬁ = | £ widuiuuihun wu hpwywlywt | hwdwp (uy 7+u) | dwdwuwywhwn wnwppbpniepjwt Wywpqupwunwiubipp)”
- < 5 5§ 5 s| S5 Jwsdh hwdwp h 8) Juidnd nwppbipniein
- wdnt
g 5 a4 =5 g g whnp (+ tup (uy 10-uj
> | 3 R 9)
€ T o €
u P S i3 G 2 [ C 3 d 7 8 9 10 11 12
104011 Snpdhpubiph phup (24 wunib) pwlwlwlwu
Lwjwunwuh
<wu i unwd
wpuLfamnLeiniint Cwjwunwuh Cwupwwbunigniuntd b
LEnuwjhtu Twpwpwnh
Lknuwjht Twpwpwnh
Lwupwwbinne niund ¢
wupwwbnnieniund mwnwunwynp
104011 1148 | Uo | 39 nwnwunwynp ywwnwuh 14,879.40 14,879.40 14,879.40 -
Bpwdhyun-yuinwnnnutph wwwnwuh Gpwdhan-Ywwmwpnnutiph
quljnqwzgdiwu L nnnisn qupqugntd U Yuwnwpbijwgnpddwu
u U g
Juwwpbijwagnpddwu wuinuwuyhl Spuighn
uywwnwlwihu dpwghp
Gunph uh tipwd
104011 nhuh punth Gpudhion putwywluwl
Yuinwpnntitiph ehyp
Owbpwjht b pwibnwiht wpybuwnh
ub dubiph phd u,
104011 ues | uo | o1 Ouilipuilpti L pualtanh wpuinh u?imifgmn B:EJEm s b 1,198,608.40 1,198,608.40 1,198,608.4 -
ubpluywgniiubin fouitnnlih g el wuihnintd, e e e
wagwhu owbpwiht b pwibnwhu
wpybuwnh fupwuntd
104011 Lwunhuwinbup pYwpwuwyp pwlwlwlwu

Cwjwunwuh Lwupwwbnniejuu $huwuuubph bwfuwpwpnieniu

18. Mshakuyt 3052 ko




Opwgpwhu Dbhuwtuwlwu gnigwuhgubip (hwg. npwd)
= 38 u <
o i £ = miguitihzh 8nigwuhph Goundud Pwuwnwgh wunuanus
£| £3 = Opuignn ud huunuinws thnhnfununyniu nigwuh nigwuh: ol "Swipplipnipjwt wwwntwn
3|5 ¢ o | = Lwnwpwlwunipjwu Quithnpnahsp (uywpwgpnieniup) Quithnpnghsh | Ywufuwwnbundp ) gmguinzn gmgwtihzn thwuwnwgh MEHNALEIL t
- =| 3 = = | ® tipu pun hwpybtinnnidwdw | (npwdwpynughts (uy. 8-nud upqwd hpwywlywu wlhwnbiph
= =l =2 c s dhgngwndwt wujwunudp wnbuwyp hwpybinnt gniguiuhpubip
£ = a 2 = 2 duwduwtiuwh hwdwwwwwufu | bwlwhwwndwsh | Swiuu) hwoybtnne h hnnudubipp W uj. 11-nwd updwd
wiwuwlwhwwn
= 3| 2 gﬁ = | £ wu hpwywlywt | hwdwp (uy 7+u) | dwdwuwywhwn wnwppbpniepjwt Wywpqupwunwiubipp)”
= =l = 2 £ 5 Sh hw b
o g 5| § & S| 5 Ywsh hwdwp wwpptipnuegn
= = = = 2 wywh (+/-) 8) Judnud
= 3 Q4 = £ 5 tup (uy 10-uy
> |3 R %
€ e o €
u P S i 5 2 [N C 3 d 7 8 9 10 11 12
104011 Lbiplywjwgnidubiph pwuwyp pwlwlwlwu
104011 Unp ptdwnpnipniuubph pwuwyp pwuwlywlwu
104011 Uunwghnuwp dky ubipyujwgdwu hwdwp npwlwlu
nwhhéh dhoht pinuqwdnipyniup (%)
U u G b
Ugqujht wlhwnbdhwlwu qquupti punbpupdtunh
ubpluwjwgnuiubiph pkdwnpniejw,
104011 1168 | Uo | 02 pwinbipwpybuinh 292,060.90 292,060.90 292,060.90 -
pwwnpnuh gnpdntubinipwt wwwhnynid,
ubpywywgnudubp
waquwiht pwwnbpwpybunh fupwunud
104011 Lwunhuwwbup pwpwuwlp pwtwlwlwu
104011 Lbipywjwgndubiph pwuwyp pwlwlwlwu

Cwjwunwuh Lwupwwbnniejuu $huwuuubph bwfuwpwpnieniu

18. Mshakuyt 3053 Ly




Opwgpwhu Dbhuwtuwlwu gnigwuhgubip (hwg. npwd)
= 38 u <
o i £ = miguitihzh 8nigwuhph Goundud Pwuwnwgh wunuanus
%w % g. = o Onugnh Ewd u 9 u u 9 htumwil{wi thnthnfunungniu gniguihop gnigwuhgp ol "Swippbipnipjwt wwwdwnp
- S 3 3 = E nuspuluitinie)uu wifinpnzfsp (Wyunuignieniin) wpnpnzfgh- | uitfuintunudp tipu pun hwpybtinnnidwdw | (npwdwpynughts thurunuigh (uy. 8-nud upqwd hpwywlywu wlhwnbiph
= = =2 c 5 dhgngwndwt wujwunudp wnbuwyp hwpybinnt gniguiuhpubip
£ = a 2 = 2 duwdwtiuluhuwn hwdwwwwwufu | bwlwhwwndwsh | Swiuu) hwoybtnne h hnnudubipp W uj. 11-nwd updwd
= 3| 2 gﬁ é = wu hpwywlywt | hwdwp (uy 7+u) | dwdwuwywhwn wnwppbpniepjwt Wywpqupwunwiubipp)”
g S| s s S | 5 Juwdh hwdw wnwppbpniejn
2 | £ pla g gz M wyh (4 8) quidnud
5 5 a4 5 s | 5 tup (uy 10-uy
= | 5|z 2
€ e 5 €
u P S i 5 2 [N C 3 d 7 8 9 10 11 12
104011 Unp pdwnpnipniuubph pwuwyp pwlwlwlwu
Uwnwghnuwp dkl ubiphujwgdwu hwdwp
104011 hhiuwlwu nwhhéh dhohu npulwlywu
phinujwdnipyniup (%)
Swppbipnpyniup wwjdwuwynpyws
(Fuwwnk u by dub
104011 168 | uo | 03 fGunnbipuipuijut wnbpuipuilut Lepluyugnidutinh 1,439,974.60 1,439,974.60 | 1438,974.60 | - 1,000.00 |niintw) Swnwjnipjaitititph
ubipyuwywgnidubp phdwnpnipniuubp hn s & nttnbunuind:
nJwdny wnwowgwd nuwmbuntdny:
104011 Lwunhuwwnbup pwpwuwyp pwuwlywlwu
104011 Lbiplwjwgndubph pwuwyp pwlwlwlwu
104011 Unp pbdwnpnipiniuubiph pwiwlp pwlwlwlwu
u uwp dkl ub dwu hwd
104011 inughntuwip Gl ubipkuywgdwts hudwp npuilwlw
nwhihéh dhoht pinudwdnieyniup (%)
Gpwdonwywu hwdnypubiph, hwdkpgujhu
Gpwdamwpybuwnh b
104011 1168 | UT | 04 b T Luaqdwybpwnieniuubph Ynndhg 1,383,925.10 - 1,383,925.10 1,383,925.10 -
wuipupdiunh hudGngltn hwdbpgwyhtu dpwanpbph hpwlwuwgnud
104011 Lwunhuwwnbuh pYwpwuwyp pwuwlywlwu
104011 Lwdbtipgubiph pwuwyp pwuwlywlwu
104011 Unp hwdbipgquwjht hwdwpubph pwuwlyp  [pwuwlwlywu

Cwjwunwuh Lwupwwbnniejuu $huwuuubph bwfuwpwpnieniu

18. Mshakuyt 3054 ko




Opwgpuwyh

Opwgph nwuhsp

Lwnwpwlwuntpjwu
dhongundwu nwuhsp

Opwgph Yud
Pwnwpwlwuntpjwu
dhonguindwt wudwunidp

Quithnpnhsp (Wywpwgpnuenip)

Quihnpnzhsh
wnbuwyp

Dbhuwtuwlwu gnigwuhgubip (hwg. npwd)

8nigwuhph
hwunwingwsd

Ywufuwwnbundp
hwpybinnt
dwdwuwlwhwwn
Juwdh hwdwp

8nigwuhph
thnhnfununyniu
bipl punn
hwdwwwwnwufu
wb hpwywlwu
wywh (+/-)

Goundud
gmiguiuhpp
hwoytnnidwdw
uwlwhwwdwdh
hwdwin (uy 7+u)
8)

Pwuwnwgh
gmguiuhop
(npwdwplnuyht
Swifuu) hwyytinnt
dwdwuwlwhwwn
Juidnud

Lwunwwnyw
Sl
thwuwnwgh
gniguiuhpubip
h
wnwppbpniejn
tup (uy 10-uj
9)

"Swippbipnipjwt wwwdwnp

(uy. 8-nud upqwd hpwywlywu wlhwnbiph
hnnudubipp W uj. 11-nwd updwd
wnwppbpniepjwt Wywpqupwunwiubipp)”

= [MU Ynnp

T |Ywwwpnnh Ynnp

D

% |uthnpnghsh Ynnp

| Mwpwpubiph gwnpdh Ynnp

3

11

12

104011

“typngulwt $hihwpdnuhwh
hwdbipqwjht gnpdniutintenit dwpgbipnud
U Eplwunud (hwdkipgubiph pwuwyp)

pwuwlwlywu

104011

Uunwghnuwp dkY hwdtipgh hwdwp
nwhihéh dhoht pEnuqudnipyniup (%)

npwlwywu

104011

1168

uo

06

Lwdwjupwihu dowynyph b
wquwn dwdwugh
Juqudwlbpynid

Lwdwjupwihu dawynyeh b wquin
dwdwugh Ywqdwhbpwnid dowlynyph
YGuwmpnunud, nwpwdpwih dowynipwihu
dhongwnnidutiph hpwlwuwgnid

36,968.00

36,968.00

36,968.00

104011

Shyuphuwjht pwnpnuh ubiplwjwgnidubiph
pwlwyp

pwuwlwlwu

104011

Snwwtwlywu hwinyph hwdkpgubtph
pwlwlp

pwuwlwlwu

104011

1168

uoc

o7

Urwlniewiht dhongwnnuiubiph
hpwywuwgnud

dwidwuwlywyhg wpybuwnh
wpnwwgwunnid, mwpwdnud,
dwwnskihnipywt wwwhnynud, <<
dwpgbtipnud dawlynipuwiht Ywuphu
dwutwlyghint, dpwlnyewihtu wpdbputiphu
hwnnpnwygytiint, niuwynieniuubtin nu
htitnwppppniejniuutipp npulinptin,
wqwwnnpnu unbindwgnpdtijnt
hpwyniupubiph wwwhnynid, wugjwnud
unbtindwd, wwhwwuynn, Yhpwnynn b
pwuwynp Gwlwuwwphny thnfuwugynn
wywlunwlwu dawlnipuwiht wpdbpubiph
wdpnnontpjwlt Wwhwwunipjwup ninnywd
Swnwjnipiniuubiph b dpwlynyphu Uyhpywd
hEnnuwmwhwnnpnwowpbiph
hpwywuwgnud

1,219,258.90

- 88,162.10

1,131,096.80

1,105,479.20

- 25,617.60

Swppbpnipyniup wwydwuwynpws £
dowynipwihu dhongwnnidutiph
pupwgpnid juquwlybpynipyniuutiph
Yynnihg wnwowgwsd nuwnbiuntd:

Cwjwunwuh Lwupwwbnniejuu $huwuuubph bwfuwpwpnieniu

18. Mshakuyt 3055 Ly




Opwgpwhu Dbhuwtuwlwu gnigwuhgubip (hwg. npwd)
= 38 u <
o i £ = miguitihzh 8nigwuhph Goundud Pwuwnwgh wunuanus
£| £3 = Opuignn ud huunuinws thnhnfununyniu nigwuh nigwuh: ol "Swipplipnipjwt wwwntwn
3|5 ¢ o | = Lwnwpwlwunipjwu Quithnpnahsp (uywpwgpnieniup) Quithnpnghsh | Ywufuwwnbundp ) gmguinzn gmgwtihzn thwuwnwgh MEHNALEIL t
- =| 3 = = | ® tipu pun hwpybtinnnidwdw | (npwdwpynughts (uy. 8-nud upqwd hpwywlywu wlhwnbiph
= =l =2 c s dhgngwndwt wujwunudp wnbuwyp hwpybinnt gniguiuhpubip
£ = a 2 = 2 duwduwtiuwh hwdwwwwwufu | bwlwhwwndwsh | Swiuu) hwoybtnne h hnnudubipp W uj. 11-nwd updwd
wiwuwlwhwwn
= 3| 2 gﬁ = | £ wu hpwywlywt | hwdwp (uy 7+u) | dwdwuwywhwn wnwppbpniepjwt Wywpqupwunwiubipp)”
g S| s s S| s Sh hwd b
o £ 5| § & S | 5 Ywdh hwdwp wnwppbipnien
= = a< = 2 wywh (+/-) 8) Judnud
£ g = £ 3 tup (uy 10-uj
=) 3 9
g | 3 g |é :
u p T | 2 | k i > d 7 8 9 10 11 12
Mbnwlywu wowygntejudp
104011 hpwlwuwgynn unbndwgnpdwywu
dpuwgntin, wyn. pynud
104011 pwwnbpwlwu dpwgpbiph phup pwlwywlwu
104011 Gpwdonwlwu dpwanpbiph rhup pwuwlywlwu
Uhowqggquyiht Yhunthwnwwnnuubiph,
104011 pwwnbpwlwu, Gpwdanwlwu pwlwlwlwu
thwnwinnubiph U dpgnyputiph phup
Cwupwwbinwywl hwnwinnubph,
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UM< hwdwwwwnwufuwu wnnygubph
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